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-	L9��� �. 

 

�	
�&���L:��#��
5�;5���!���#�$	� 

 

 
�-1 �	
�	 
5#	�L�	#;�"����L�	#`U����	�.	� (Determination of Moisture Content and 

Specific Gravity) 
      %�!�� *���= ������D��%�0*�
���,����	��*�#��������D43	������������,��1��0*�
��
"	0=��� *����
 #�%�!�$��%�����3� *����	�3���������= ������D��%����
����#������#��
 
�	4�*���%����D43	�������#	��	�	��9���*��= ������D��%���% 

• %�!#��!���=����D43	  
D�3	
�� ,�#!��#�����D43	��!����%.=��!�F2� ���#���
�0	��#	����� 20 ��������! × 

20 ��������! ����
������ �3
	 25+5 ��������!  >�
�����% ��	����	43*
��
����*
��0*�D43	
������1���
9��	%�!�� *�"#��5 ���" ����1�� ��%�����%���"#��	�	 	,�D�3	
��
�D���"#����*�
��2��$	�
�
 *��,��#	��>�
D���*
���!���!E�  	3,�#	�%���
���!�
%���	3,�#	�%0=��� *� ����	,�
����3�#��
�
*�"	���*�
ffQ���3�*�=#?��� 103+2 *�$��F��F�
  �		3,�#	�%�����  �!��
����% ������*
���
��"	
���*���D���	3,�#	�%#��%�	�!���= 6 D���>��  ���	3,�#	�%��3� *��!�3���%����%�	
���%�	 0.5% 0*�
	3,�#	�%D�3	
���4*���	3,�#	�%��������� 	,�D�3	
����3�#��**%��%���*�
�" �"	>��#�� (desiccator) 
��4�*D�3	
���
E	��������2�	,�
�D���	3,�#	�%"#����*�
��2��$	�
� *��,��#	��  �,�	�=#���*!8�FE	�8
����D43	 (M) ��% ��! 

 
                       M = ((Wt � Wo)/Wo) × 100 

��4�*   
Wt  = 	3,�#	�%0=��� *� 
Wo = 	3,�#	�%*��#�� 
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• ���������,��1�� 
���������,��1��0*��� �����	������� ���2��!���=��� �!"	#	2��#	��
�!����!  

���������,��1���4**��!� ��	!�#���������	�	0*��� ����*�����	�	0*�	3,� (
����#	��
) 
 ���!��0�
	���	 ��!���������,��1�� (S.G.) 
�����	�3 

 
                              S.G. =  Wo/Vt  

 ��4�*   
Wo = 	3,�#	�%*��#�� 
 Vt  = �!����!0=��� *� 

 
�-2 L�	#�L���m���!�	����"$�  (Shear Strength Parallel to grain ) 
	##	

o	� BS 373 

• 0	�����*
���
�� 

������*
���
��"#�����%.=���%��$%80	��  20 ��������!  ×  20 ��������!  ×  20 
��������!    F2�����	
����*��,�#	���%	�3	���0	�����
�������*!8 (*��	�$	�
� 2 �,��#	��) 

                                                
-	. 
������� �-1 ��%.=�
�����*
������"D�"	%�!�� *� 
 

• ��7�%�	3,�#	�% 
%�!%�	3,�#	�%�,�>�
	,����*
���
������	*��%!=8�� *����?�1�!�%*� %-2 ���

"#���3�p�%������"#���%�!�p4*	�!���=�!�%2��%���0*����*
���
�� �,�%�!�� *�>�
"D������!E�
"	%�!���4�*	���0*�#��%��,�"#����*
�����%#�%?�
"	 1.5-2 	��� >�
 ��	����%��%�!�4�	
���4*
 ��	���*�*	������ ��0*����*
���
�� 
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-	. 
������� �-2 %�!�� *��������	�p4*	0	�	� �3
	 

 
 %�!������*
���
��"	*��%!=8�� *� ��*�1
�
��������*
���
��"#���3��!�  "#�#	�����

�	� 	��%����	!*����"#��%��%�!�p4*	�!���=%2��%���
�� *��%!=8�� *�����*����"#��9�	%�
�#�4�*�%��/�	!*��14�*"#����*
���
����*� !�"	%�!��4*%�	�%�!��4�*	
��
����!�	�����������
���	��		�*
��� �����?�1�!�%*���� %-3 

 
-	. 
������� �-3 %�!�� *��������	�p4*	0	�	� �3
	 (���	0���)      
 

• ���������,��1���������D43	 

     1���!=���%?��9	�% %-1 
           
• %�!�,�	�=9� 

	,�9����
�����,�	�=#��������	 �� ��"	%�!!���!��p4*	0	�	� �3
	0*�
�� F2����	
���
 τ >�
��	���"	 ��! 

τ   =   
tA

Pmax  



 66 

��4�*  

maxP = 	3,�#	�% �� �� (�!�) ����,�"#�
����4�*	
��**%��%%�	 ( N #!4* kg) 

tA    = 143	���!�	��0*����*
���
�����!���!��p4*	 (mm2 #!4* cm2) 
                                                                                           
�-3 L�	#�L����&!�	����"$� (Compressive Strength Parallel to Grain) 
	##	

o	� ISO 

3787  

• 0	�����*
���
�� 

0	�����*
���
��������	?�1�!�%*�����!���%��$%80	�� 20 ��������! × 20 
��������!  ×  60 ��������! 1
�
��"#����	#	����� (20 ��������! × 20 ��������!) ��3�p�%� �3
	
*
�������!�� ���"#����	
��0	�	� �3
	 (60 ��������!) ���0	�����
�������*!8 (*��	�$	�
� 2 
�,��#	��)   
 

• ��7�%�	3,�#	�% 
	,����*
���
��
����"	D�*� ,�#!���� *��!�*��0*���!4�*��� *� �%�  

(Universal Testing Machine) ���*��%!=8�� *�"#���%��*�#��%���*��	� 	��%��#	��������*
���

��   %�!���4�*	���0*�#��%���*����4�*	������
�����!E�������14�*"#����*
���
����%#�%   �����,�%�!
����	�2%����!� �� ��������
�� 
 

 
 -	. 
������� �-4 %�!�� *��������	*��"	�	�0	�	� �3
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• %�!��%�	4�*���%�!�*��
�� 
��4�*���*
���
��!���!�*��0	�	� �3
	�	��%#�%������%.=�0*�%�!��%#�%
�� 6 

?�1�!�%*������� ���	�3 
 

 
-	. 
������� �-5  ��%.=�%�!��%#�%0*�
���	4�*���%�!�*��0	�	� �3
	 

 
 (1)  
�� (crushing) �	43*
��
��������	�	�0	�	 #!4*�%4*�0	�	%�����	#	��������	

%�!��%#�%�	4�*���%�!�*���������!�� 
 (2) �p4*	 (shearing)  �	43*
��
��������	��,����%��#	������%�	 45 *�$� ���	%�!

��%#�%�	4�*���%�!�*��0*�D	��
��������������	��	��*�!��p4*	0	�	� �3
	
����,� 
(3) ��%���	���� (wedge split) �	43*
��
����������� *�9 �%��%�!��%���� �3
	

��E%	�*
 
(4) ��% (splitting) �	43*
����%���� �3
	��*�����
��0*����*
���
��� �����
����

�,�#	�#!4*
��������D43		�*
�%�	
�  
(5) *������p4*	 (compression and shearing) %�!��%#�%���	�3�	4�*���%���*
���
����

� �3
	0���  
(6) 1*� (brooming) ���	%�!��%#�%���D�3"#��#E	������*
���
��������D43	 ���%�	
�#!4*

������*
���
��
����%��*� �����0���
������,�%����������	�!��  
 

• ���������,��1���������D43	 

1���!=���%?��9	�% %-1 
• %�!�,�	�= 

	,�9�%�!���*����
�����,�	�=#��������	 �� ��"	%�!!���!�*��0	�	� �3
	  
(σc)  ��� ��!��*
�	�3 
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                                                         σc =  
ba

P

×

max  

��4�*  

             maxP       =    	3,�#	�% �� �� (�!�) ����,�"#�
��#�% ( N #!4* kg) 
              a × b      =  143	���#	�����0*����*
���
�� (mm2 #!4* cm2) 
 

�-4 L�	#�L����&8����
�"�m	�������"$� (Compressive Strength Perpendicular to Grain) 
	#  

#	

o	� ASTM   143 

• 0	�����*
���
�� 
0	��0*����*
���
�� ���
��"#�����%.=�?�1�!�%*�����!���%��$%80	�� 20 

��������!  ×  20 ��������!  × 60 ��������!   ���0	�����
�������*!8 (*��	�$	�
�  2  �,��#	��) 
 

• ��7�%�	3,�#	�% 
	,����*
�������	���	 ,�#!���� *��!�*��>�
�������	�	*	 	,��9�	�#�E%%���� 

20 ��������!.  �������	9��#	�����	�	0*����*
���
��  ���"#�*
���!�%2��%��������3�p�%%������

��0*����*
���
�� ���?�1�!�%*���� %-6 ��4�*	#��%�"#�����9�	�#�E%1!�*������3���!4�*��4*���
%�!� �
 ?�1 �� *�>�
%�!*��#��%����	�9�	�#�E%���	*��!��!E������>�
��4*%�����!E�����,�
"#�
�����1�%��*��!� ��	>�
�!� ?�
"	���� 1.5+0.5 	���  �� *��	9��#	��0*����*
���
����%
�9�	�#�E%%�
����
� 2.5 ��������! ����#
����!4�*� 
 

                                    
 -	. 
������� �-6 %�!�� *��������	*����3�p�%� �3
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• %�!��%#�% 
%�!�� *��!�*����3�p�%� �3
	��
����%�!��%#�%�%��023	 �1!���!�*���,�"#��	43*
��

�	�	023	�!4�*
5 (���!*"#����*
���
����%#�%��!4�*���1��� �
%�*	) %!�f� ������ ��1�	78!�#����
	3,�#	�%���%�!
�����0*�
������5
�� �����?�1�!�%*� %-7 ���	�3	��������0E��!��������!��
0*�
����4�*!���!�*����3�p�%� �3
	�2�
���� "	����Z��������!/�	
��%,�#	�"#�"D���� fiber stress at 
proportional limit  (σP.L) ���	��������0E��!����"D�**%���>�!� !��� 

 

• ���������,��1���������D43	 

     1���!=���%?��9	�% %-1 
 

• %�!�,�	�=9� 
	,�9����
��� *�>�
%�!1�E*�%!�f>�
"#�	3,�#	�% (load) *
���%	��3� (y)  ���"#�

%�!� �
?�1�!�%*���� (deformation) *
���%		*	 (x) ������%� �	%!�f���
��	,�
���!!��������
� �	%!�f"#�9��	��� 0  ����,���!4�*�#��
������� �	%!�f�!���>�������0�
	 yP.L.{ %,�%��
��  
��%� �	�!���%��� P.L. "#�0	�	�%		*	
�����%	��3� %E��
�����	3,�#	�%������ P.L.  	,�������
��	�3
��	"	 ��!�14�*#���� σP.L 

 

                                          σP.L = 
A

P LP ..  

      

 

��4�*   
                   σP.L   =  �������	*��"	�	���3�p�%� �3
	 (MPa) 

   ..LPP  = 	3,�#	�% = ���1�%��*��!� ��	>�
�!� (N #!4* kg) 
      A      = 143	���0*����*
���
�����!���!�%���%�9�	�#�E% (mm2 #!4* cm2) 
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-	. 
������� �-7  %!�f� ������ ��1�	78!�#����	3,�#	�% (load) ���%�!� �
!�� (deformation) 

0*����*
���
�����!���!�*����3�p�%� �3
	 
 

�-5 L�	#�!i� (Hardness )  
	##	

o	� ISO 3350 

•  0	�����*
���
�� 

0	��0*����*
���
���� *�#	����� 50 ��������! × 50 ��������! �������
�����
� �3
	
��	�*
%���  50 ��������!   ���0	��
�����
�������*!8 (*��	�$	�
� 2 �,��#	��) 
 

• ��7�%�	3,�#	�% 
	,����*
���
�����	���	!*� ( ,�#!���� *��!�*��) ����"D�#��%� ,�#!���� *�

�����0E� ���?�1�!�%*���� %-8  %����	���*
���
�����
�����!E������ 3-6  ��������!/	��� 
"	0=���!4�*����	�*
0
�����#�	�#�E%*
����*����� ��4�*���#�	�!���0
��
��
��"#��,�%�!#
��
��!4�*� ��%	�3	����	�2%�!� �� ��
���14�*�,�	�=#���������0E� 
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-	. 
������� �-8 %�!�� *������0E� 

 

•  ���������,��1���������D43	 

1���!=���%?��9	�% %-1 
 

• %�!�,�	�=9� 
	,�9�%�!���*����
�����,�	�=#���������0E�0*����*
���
�����������D43	"	0=�

�� *�����%�� m F2����	���
 Hm >�
��	�����"	 ��! 
 

                                                  Hm = KP 
��4�* 

P = ����!� �� �����*��	��%����� *� (N #!4* kg) 
K = ��� ���!� ��78 
= 1 %!=����#��%�����"	�	43*
���2% 5.64 ��������! 
 = 4/3 %!=����#��%�����"	�	43*
���2% 2.82  ��������! (%!=�������*
���
����%0=�
�� *� *	�>��"#��� *�"#�� ���%�#��%�"#��2%��"	�	43*
���1�
��!2��#	2��0*�
0�����	�4* 2.82 ��������! �����*���	 K ���
 4/3 )  

 

 

 

 

 



 72 

  �-6 LU	L�	#�!i��
����L�	#�!i�
f�8��	
&�&�`5
 (Strength and Stiffness in Static Bending) 


	##	

o	� BS 373 

•    0	�����*
���
�� 

������*
���
��0	��  20 ��������! × 20 ��������! × 300 ��������! ���0	��
�����

�������*!8 (*��	�$	�
� 2 �,��#	��)  � !E������*%����0	��
�� 25 ��������! ���	���$�	
8����
0*����*
��� 
 

•    ��7�%�	3,�#	�% 
	,����*
���
������	���	!*� (supports) F2�����#���%�	 280 ��������! (span ����%�� 

280 ��������!) ����%�	3,�#	�%
�����	%2��%���0*����*
���
�����
#��%������!�$��0*�����>��� 25 
��������!  %�#��%����	%!�����
����%#�%?�
"	����  1.5+0.5 	��� ������!�����!���=%�!
>%���	4�*���%�!�
���14�* !���%!�f 

                                     
-	. 
������� �-9 %�!�� *���������0E��!���������0E��2�"	%�!��� ���
8 

• %�!��%#�% 
���*
���
�����!���!���� ������%���������	*����� ��	�	 �������	�2���� ��	����

����������	�p4*	023	�!��	��%	%��� ��4�*���*
���
��
��!��	3,�#	�%�	��%#�% ��%.=�%�!
��%#�%�2��%���	4�*���%�������	��3� 3 D	��	�3 F2������**%���	 6 ��� �����%.=��!�%Z���
���	���� 

(1)  %�!��%#�%���
�!��2�>�
�!� (sample-tension failure) ��	
��0����� ��	����
� ��"#��#E	���
��0�� �	4�*���%�!��2�0	�	� �3
	���	5 ������%��%�����*
���
�������� �3
	�!� 
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-	. 
������� �-10  ��%.=�%�!��%#�%0*����*
���
���	4�*���%�!���� ���
8 
 

 (2) %�!��%#�%���
�!��2�0���� �3
	 (cross-grain-tension failure) �%��023	"	���*
���

�������� �3
	0��� 
������%����	�� �3
	�	4�*���%�!��2���3�p�%� �3
	9 �%���!��p4*	0	�	� �3
	 
(�����0"D�
��
��) 

(3) %�!��%#�%���
�!��2�� �3
	�!� �	 (splintering-tension failure)  
��0��
�	4�*���%�!��2�0	�	� �3
	�!�����%��� ��	����0*���	 �����%.=�%�!0��0*��F��8
��
�!� �	%�	*
�����
�� *� ��	
��#���**%��%%�	 � ��"#��#E	������	
���#	�
� 

(4) %�!��%#�%���
�!��2�� �3
	��!�� (brash-tension failure) 
��0�����
�!��2�
�D�	%�	 >�
��9��#	�����0��!���!�
����0����	����	"� 
�� *� ��	��%!���E	
��	����� 
� ��"#��#E	���
����!��  

(5) %�!��%#�%���
�!�*�� (compression failure) �%��
����� ��	�	0*���	 �1!��

�����	��	�!�*��
����,�#!4*
��������D43	 �� 

(6) %�!��%#�%���
�!��p4*	����	�	*	 (horizontal-shear failure) �%��"	��	��� �3	
����������2%��% 

 
• ���������,��1���������D43	 

     1���!=���%?��9	�% %-1 
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•  %�!�,�	�=9� 

 	,�9�%�!�� *�
�1�E*�%!�f� ������ ��1�	78!�#����	3,�#	�%���%!��,� (P) 
���%�!>%����� (δ) >�
"#� P *
��"	�%	��3� ���  δ *
���%		*	 F2���!�
%��� load-deflection curve 
#����1�%��*��!� ��	>�
�!� (proportion limit) ��%	�3	�,�	�=#��������5 ��*
�	�3 
                     (1) >����� ��%#�% (modulus of rupture #!4* MOR) F2��� ������ ���!�"	%�!
���	%�!��%#�%#!4* y�����0E��!�{ 0*�
�� 

                         

                         MOR = 
2

max

2

3

bd

LP  

 
 (2) >����� 
4�#
��	 (modulus of elasticity #!4* MOE) F2��� ������ ���!�"	%�!

���	%�!>%��#!4* y�����0E��2�{ 0*�
�� 
 

                  MOE = 
3

3

4 bd

LP

pl

pl

δ
 

 
       (3) ��	�2������%#�% (work to maximum load #!4* W)  
      

W = 143	���"��� �	>����	�2������%#�% × P δ 0*�#	2��#	��
143	��� 
              �!����!0*����*
���
��!�#�������	!*� (bdL) 

��4�* 

                P     =  	3,�#	�% (�!�) ���%!��,� (N #!4* kg) 
               maxP  =  	3,�#	�% �� �� (N #!4* kg) 
               ..LPP  = 	3,�#	�%������ P.L. (N #!4* kg) 
                δ      =  %�!>%��0*����*
���
�� (mm #!4* cm) 
               ..lpδ   =  %�!>%�������� P.L. 

                B     = ����%����0*����*
���
�� (mm #!4* cm) 
                D     = �����2%0*����*
���
�� (mm #!4* cm) 
                L      =  ����
��0*����*
���
��!�#�������	!*� (mm #!4* cm) 
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-	L9��� ! 
 

!��#+�!���	
�&��� 
 
 

�	
�&������ 1 
 

��	������*�   23/9/48 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

 

9��	
�&��� 
          1.  ��%.=�0*�
��
��#���*��#�� 
 

 
 
-	. 
������� !-1 ��%.=�0*�
��#���*��#��0*�%�!���*���� 1 ����%.=�
�����%����%�!2����*	 
                                      

2. 
��
��#���*��#����
��� �
#�
�%�	%���
*�!��
�� 85% 0*���3�#�� 
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 �5�	
�T9��	
�&��� 
             1. 
�����*��#�� 
���#���2� 15% ���!/�	�#�� ��3�	�3�1!��%�!������!���%�!�,���	0*�
#�*�
��
����1* �!���=0*���!�*	
���1�
�1* (*�=#?�����,�%��� 80 *�$��F��F�
 ) �1!����!4�*�����
�����"D����*���%�!"D���	*4�	 5 ���
1!�*�%�	 
             2. 
����%#�%��%%��� 85% 	�����1!��*�=#?���"	#�*�*�
��D���
*	3,�!�*	����� ���%�	
�
��%%��� 110 *�$��F��F�
   
             3.  !���������� ���*�!���
���	
���,���	 ��9���*%�!�������1!��*�=#?���"	#�*�*� 
             4. "	!�#����%�!���*� ���!��2�
��
��**%��D���	3,�#	�%
��
��!�#����%�!*��1!��
��
>����* �2���*�#�!����%�!���
��"#�� 
 

�	
 
�� 
:�����! 
1. �����
	��*�,����
��� (��**�*	 ,�#!���,����
���) ����0����!4�*��,�����!�*	��%� �	9��	

$�	
8%��� 0.5 	�3� 
����	0	�� 1 	�3� 
2.  ������*�=#?���"	#�*�
��"#� ���%�	
� ( 	�*
%��� 110 *�$��F��F�
 ) 
3.  F�*�!��� ���� � ��� ���*�!���
���	 �	4�*���%
��"D�%�!
��
�� 
4.  **%���!�����%�!���
��"#�� �,�>�
%�!� !��
�����	 (stickers) �0��
��!���=D�3	���

��*�%�!�2�
��**%��D���	3,�#	�% 
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�	
�&������ 2 

 
��	������*�   11/10/48 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

 �5��

#�U���	
�&��� 
• �����
	0	����*�,����
���%��*����% � �	9��	$�	
8%��� 0.5 	�3� ���	 1 	�3� 
• ��!��� ���-���� ���*�!���
���	         

9��	
�&��� 
         1.  ��%.=�0*�
��
��#���*��#�� 

 
-	. 
������� !-2 ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 2 ����%.=�
���� �%��%�!��%

�!���=���
��% 
 

2.  �,�	�	
����%����*� �
#�
�%�	%���
*�!��
�� 80% 0*���3�#�� 
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�5�	
�T9��	
�&��� 
   1.  *�=#?������ ���%�	%��� 110 *�$��F��F�
   �,�"#�
����%��% >�
��%%�!���*��,�"#�
�����

*���%
��!���= 80%   ��#������%	3,������%�2�**%��%
���!E��%�	
�   >�
�p1������!���=���


����3� 2 ���	 �,�"#�
����%�!#����
������%�	 �!���=���

������%�!#������%%����!�%���
�� 
��
�2���%�!��%�!���=���

����% 

2.
�����*�
��
���#���2�!��������D43	�����*�%�! 15%  ��#��	��������% �!���=��!�*		�*

�%�	
��,�"#�%�!*��#��
���� ����*�	�*
�%�	
�  %�!*��#��
��
�����

*	3,�
���
��  ( %	%�!!= 
���9��, 2004)  *�
���1�
� 3 ��*	 "	?�D	���E% (1.8 ��%��$%8���!)  "	!�#����%�!*�
��
����%�!
�������D43	 ��1��78*�%�$"	?�D	�*����!�����%�!*��#�����	���
����*�	4�*� �,���	�� 1 
��� (8 D���>��) "	0=����!����%2��*�� �#%!!���0	��#�*����"#-�%��� (18.5 ��%��$%8���!) "D�*�

�� 100 ��*	  ������#E	�������#	��	�	0*�
����*�!����!#�*���%����%�	��% ���	�3	����D43	���
�%����%%�!!��#
0*�	3,�"	
������9���*%�!�#�� 

 
�	
 
�� 
:�����! 

 1.  ��*���%�!�!�������
	!�����*�,����
�
*	3,�!�*	�����!�*	"#�� >�
�,�"#���0	��!�"#-�
023	 �14�*�1���*��!�
#�0*�!�*	"#���023	 
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�	
�&������ 3 

 
��	������*�  24/1/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

•   **%���!�����*�,����
� ��!�*	 ���
*	3,�!�*	
���
��"#�� ����,�����,��*�!���
��*�,����
�
*	3,� >�
"D���*1���F�����#�*��!�%�!
#�0*���      
•  �,���*�#�E%�,����
��14�*��*��!�%�!
#�0*���!�*	 (����!���*�#�4*	����,��*���*1���F�) 
1������*��!�%�!
#��D���!����!  1,283  ��%��$%8���! ��*D���>�� 

9��	
�&���  
         1. ��%.=�
��
��#���*��#�� 
                                               

 
-	. 
������� !-3  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 3 ����%.=�
���� �%��%�!��%

�!���=���
#��
�#�� 
 

2. �,�	�	
����%����*� �
#�
�	%���
*�!��
�� 35% 0*���3�#�� 
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�5�	
�T9��	
�&��� 
1. ��%%�!*��#��"D����� 41 D���>�� 
��
��
���#����4�*�!�1���!=�����#	��	�	
����*0	��

#�*�*�������%�	��% 
 

#��0�* *�
�� 3 ��*	 (Lab  scale) *�
�� 100 ��*	 (Pilot scale) 
1. �!����!0*�*��%!=8*��#�� 1.8 ��.�. 18.5 ��.�. 
2. �,�	�	
�� 3 100 
3. ����#	��	�	 0.6 ��.�. /��*	 0.185 ��.�. /��*	 

 

�#	$��
: 
 1.   #�%*��#��
����� 300 ��*	 ��������#	��	�	
����*0	��#�*�*� 0.06  ��%��$%8���!/

��*	 "	%�!*��#��!����#�*����*� 3 ��*	 �������D43	 ��1��780*�*�%�$9�����*�
��
����	�2% 
���	�3	"	%�!���*�!�������"#-�023	���%�!*��#�� 300 ��*	 �2�
��
��
�� 	"��������D43	 ��1��78
*�%�$ �����%�������#	��	�	
����*143	���1����"	%!���	%�!��!��	�2%�������D43	 ��1��78
*�%�$�14�*����!��#8%�!�#��0*�
�����
�1!��
�����!���=��%����D43	
������%�,�"#�����D43	
 ��1��78*�%�$ �� 
�����#��D��#�%*�
���!���=��%5 

 2.   %�!��%#�%>����*0*�
�����!���=������% ��% 80% �#�4* 35% �1!�������%�!������ 
*�=#?���?�
"	#�*�*�"#�*
��"	!���������*�%�!
����023	 
���%�	%���*�=#?������%,�#	���%	�% (��� 
105 ��� 110 *�$��F��F�
 ) 

 3.   *�=#?���"	D�����!�*	 (hot air) ��4�*����*�9��	
�
� 4-5 D���>�� *�=#?���"	#�*���*
����� 
60 *�$��F��F�
  �1!��%�!����"#�%�!
#�0*�*�%�$	�*
�%�	
���!������"#���%023	���*����
�� ��#����%����D43	"	#�*�*��� ���2��,�"#�*�=#?�����,�����% 

 
�	
 
�� 
:�����! 

1. �����3�!����!���������D43	 ��1��78*�%�$ 
2. �����3�*��%!=8����!���=	3,����"D�"	%�!9���
*	3,�!�*	 
3. $2%.�����D43	�����9���*%�!*��#��
���1������� 
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�	
�&������ 4 

 
��	������*�  3/2/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

• �����3�!���%!������#�������+
% �!���=���*�!���
���	0*�#�*�*�
�� 
 

9��	
�&��� 
          1. ��%.=�0*�
��
��#���*��#�� 

 

-	. 
������� !-4  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 4 ����%.=��� 
����
��%.=��!�
���%��%�!>����* 

 

 
2. �,�	�	
��#���*�������� �
#�
�%�	%���
*�!��
�� 26% 0*���3�#�� 
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�5�L
	��T9��	
�&��� 
1.  *��%!=8�������D43	���"D�%!������#�������+
%
��
����   ������9��1����	4�*���%%�!

*��	���
�%��% �1!��"	%!���	%�!���*���*�*��	*�=#?�����%���*����	  %�!*��	���������
��
��*	0���
�%�1!������!�*	�	4�*���%���	 �,�"#�9�����*�
��!��*�	�!�

�� 

2. 
��
����%�!��%���*
����% (26%) >�
�!���=�����%��*
�����0*�%*�
����3� 2  0��� >�
�����%�!
��%��*	0�����%  

 
�	
 
�� 
:�����! 

1. �����
	*��%!=8�������D43	���"D�%!������#�������+
%"#�� ��%���������
	�����	"D�%�!
���*�=#?�����%��*!8>�����*!8���	��*!8>����������	���	%�!�����������*� � ��9��	�*?�1
�2� ���%%�����% 
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�	
�&������ 5 

    
��	������*�  13/2/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

• �����
	*��%!=8�������D43	"#�����	��*!8>�����������*�=#?�����	0*����� 
• �����3�*��%!=8����!���=	3,����"D�9���
*	3,�!�*	               

9��	
�&��� 
         1.  ��%.=�
��
��#���*��#�� 
 

 
 

-	. 
������� !-5 ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 5 ����%.=�
���� �%��%�! 
  ��%�!���=���

����% 

 

2. 
��
��#���*��#������ �
#�
�%�	%���
*�!��
���� 27% 0*���3�#�� 
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�5�	
�T9��	
�&��� 
    1.  ����D43	 �����
0*�
�����*
�����3� 10 ��*	����� ��%���  15% ���!/�	�#��   >�
���"D�

����%�!*�	�	 72 D���>�� ��3�	�30�* �����/�	���	�3 
- ����!�*	"	%�!*��#��	�*
�%�	
�"	D���*�>�

*	3,�!�*	 >�
����%%�!��	�2%*�=#?���

���
��*�=#?���#�*�*
����� 100-102 *�$��F��F�
  ����������3����*�=#?����0��#�*�"#� ����% 120-130
*�$��F��F�
  ��������4�*
*	3,��0��#�*�*��#��
� ��9� ����D43	�,�"#�*�=#?���������%�	4�*���%
����D43	"	#�*�*� �� 

- %�!����F��89��
��#�����!E��,�"#�	3,�?�
"	**%��
��
��>�
��0�*����1������� ����D43	���9��

��*
����� 15-18% ���!/�	�#��   ?�
"	������D43	 25-40% ���!/�	�#��  

   
�	
 
�� 
:�����! 

1. ��!"D�����!�*	"	%�!*�
��"	D����!% (0-20 D���>��) "#� ��023	%���	�3�1!����%%�!
���*�1���� ����!�*	�����*�%�!"	#�*�D���*�=#?������ 105 ��� 110 *�$��F��F�
  
���1�
�1* 
F2��*�=#?���"	#�*���*
����� 101-103  *�$��F��F�
  ��������"D�*�=#?���
*	3,��0��#�*� 120 *�$�-
�F��F�
  ����%E��� ���	�3	#�%���	
�
����!�1�����!4�*��,�����!�*	 *�%D��?�
"	#�*�*�
�� 
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�	
�&������ 6 

 
��	������*�  4/3/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

•   �����3�!���������1����*��>	���� D��
"#�1������%�!�!�������
	��$���%�!#��	�*� �,�"#�
%�!1��0*�1���� ��3�
����F��
���0������ 5 %�	      

9��	
�&��� 
         1. ��%.=�
��
��#���*��#�� 

 
.-	. 
������� !-6  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 6 ����%.=������ ���������� 

%�!�*��E%	�*
��� ���!�
*�!��
�� 
 

 2. �,�	�	
����%����*� �
#�
�	%���
*�!��
�� 30% 0*���3�#�� 
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�5�	
�T9��	
�&��� 
      1. %�!���
�����*�
����%*
����%��3�	�3	��������%*�=#?������"D�
�� ��*
�� 110 *�$��F��F�
  

*��"D�*��#�����*�=#?��� 110 *�$��F��F�
  "#�����	�*
��  ��	%�!�1���023	0*�*�=#?�����!��D��
%���	�3 %�!�1���0*�*�=#?���023	����!E��%�	
��,�"#�
����%
�� ��%9�%�!*���
��
��
��
����%��% 
����*�#� ?����#��� ���*
� 

      2. %,�����,��	�	%�!�����3�!�����!4�*��,�����!�*	?�
"	#�*�*�
���	4�*���%%�!*�
��
��
�,�	�	��% (300 ��*	) �,����	��*�"D���!4�*��,�����!�*	?�
"	�14�*!�%.�*�=#?���#�*�"#�
�����
��*�%�!  

      3. %�!���
�����	���� (D�3	 2) �#��D���1!�������!E���
#�9��		�*
�%�	
�  ��	D�3	�	 (D�3	 
18) �����!E�*������%�%�	
��%���������	�h�	0*��� 

 
�	
 
�� 
:�����! 

1.   �����3�!����������D43	���"D�%!�������+
%����#��"#��  >�
��%�����,�%�!������0*�
*�=#?���%!�������+
%����#��������*�!���
���	���	#���   �����
	
����*�=#?���0*�%!�����
�#�������+
%  ?�
"	#�*�*���	�14�*������%��*���%023	 
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�	
�&������ 7 

 
��	������*� 22/4/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?���  80 *�$��F��F�
  

�5��

#�U����	�	
�&��� 

•       �����3�!����������D43	���"D�%!�������+
%����#��"#�� >�
��%�����,�%�!���
*�=#?���%!�������+
%����#��������*�!���
���	���	#����������
	
����*�=#?���0*�
%!�������+
%����#��?�
"	#�*�*� �14�*������%��*���%023	 
•       �����3�!�����!4�*��,�����!�*	?�
"	#�*�*�  >�
�!���=����������3�*
�����	�	"%��
1����>�
%�!�����3�����*�#�0	��0*���!4�*��,�����!�*	����#��� � ����*�"D���!4�*��,�
����!�*	0	�� 3,000 ����8 !����3�#��  8 ��� 

9��	
�&��� 
        1. ��%.=�
��
��#���*��#�� 

        
-	. 
������� !-7 ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 7 
������%.=�������!� 

 
����%�!��%���
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2.
��
��#���*��#��� �
#�
�%�	%���
*�!��
�� 3 ��*	 ��% 20 ��*	         
            

�5�	
�T9��	
�&��� 
        1.   %�!�������D43	 ��1��78*�%�$
������-#�*
������������,�%�!���?�
"	#�*�*�����%E��� 
%�!�������D43	 ��1��78���
��7�	�3"	 ?���*�=#?����%��  (25-30 *�$��F��F�
 ) ���������	
,����
1*"D��������D43	 ��1��78*�%�$���*�=#?��� ��%����%����� ?���
*	3,���E�#�*���������
���	�-
	*	 �������4�*	  �������D43	 ��1��78�������,�	�=
��*
����� 60-70% ����������D43	 ��1��78�����!

����!���	  95-100 %  
        2. 
�����
���%4*���%��*	������ �
���
����%#�%>����*��% ��3�	�3�1!�����*�=#?���#�*�*���
���� �,�� �*
����%�%�	%������%,�#	� %�!����!4�*��,�����!�*	���	"	��D��
!�%.�*�=#?���
*��#��"#�
�������*�%�! >�
���
����*��!��*�=#?���0*�
*	3,�!�*	�0��#�*�"#� ��023	�14�*�Q*�%�	���
*�=#?�������"	#�*� >�
*�=#?���0*�
*	3,�!�*	
��
�������0��#�*�*
����� 105 ���110 *�$��F��F�
   
(����%��*�=#?���"	#�*� ) 

3.   �!���=
��
����	�*
�%�	
� 
����*����*�����!���=
����%%���	�3 ���100 ��*	 
       4. ��!4�*��,�����!�*	���	"	#�*�D��
�!��*�=#?������!�%.�*�=#?���"#�������*�%�! F2����%���
D������
��
������!4�*��,�����!�*	���	"	 ?�
"	*�=#?������1���D����%���*�=#?���
*	3,�!�*	��
������%��4�*�0��#�*� 
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�	
�&������ 8 

 
��	������*�  5/5/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

• F�*�"�1�����!���	 �� �	4�*���%�*��*!8
#���1!�
ffQ�0��0�*� 
9��	
�&��� 
       1.  ��%.=�
��
��#���*��#�� 
 

 
-	. 
������� !-8  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 8 ����%.=������ 
���!�
���� 

%�!��%�!���=���
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-	. 
������� !-9  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 8 ����%.=����
����  


����%�!��%�!���=���
�����%�!>����* 
 

2. 
��
��#���*��#��� �
#�
�%�	
*�!��
�� 20 ��*	 ��% 60 ��*	 (33.5%) 
 

�5�	
�T9��	
�&��� 
1. 
��
��
����%*
����%  ��#��	��������%����D43	 ��1��780*��!!
�%�$�����
���#��� ��4* 

�������D43	 ��1��78*�%�$D���
*	3,�!�*	
��
�������� 50-66% �����!�*	����� 2-10% ��%�!
�����
	����*
���!���!E�
���%��%�!��%#�% (�,��	�	,���%%!!�%�! *�����%���#	���!�3���� 2) 
 ��#���1!��%�!����������D43	 ��1��78���	������������
�	 F2��
�%�%�%�!����������D43	
 ��1��78*�%�$"	#�*�*�"#�����������*�%�! 

2. %!�f� ��%�!�#��0*�%�!���*���� 7 ��� 8 ����%.=��������
%�	������*��!�%�!�#��0*�

��
��"	D���  20 D���>�� �!%0*�%�!���*���� 8 ��D��%���0*�%�!���*���� 7 ��E%	�*
    �!���=  
5 % ���!/�	�#�� 

 

�	
 
�� 
:�����! 
1. %�!����������D43	 ��1��78*�%�$������������
�	 ��*������
	�����������

%2��*��>	����*�$�
*��%!=8�������D43	��������*����	�������������D43	 >�
%�!�������������8�
0*����*�!���
���	 
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�	
�&������ 9 

 
��	������*�  7/7/49 
�-	���	
�&���  
•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���120  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

•   �����3�!�������������D43	*��>	���� >�
�!�%*����
!���������%�!����������
���8�!���
����D43	���*��%!=8�������D43	 (relative humidity meter) >�
#��%%�!�,���	
0*�!����4* *��%!=8�������D43	�������D43	 ��1��78*�%�$?�
"	#�*�*��� �� �--�=
�����*�
�
�����������%�!�,���	 F2��������������%�!�,���		�3����#	���*
��%,�#	��������D43	
 ��1��78*�%�$ #�%����������,�%���������%,�#	�
�� ����%�! �� �--�=
�������"#����8���� 
#�%�������D43	 ��1��78���������
���������%%���������%,�#	��� �� �--�=
�������"#�����
���8�!���
 

9��	
�&��� 
         1.  ��%.=�
��
��#���*��#�� 

 
-	. 
������� !-10  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 9 ����%.=����
����  

 
����%�!��%�!���=���
���>����*��% 
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-	. 
������� !-11 ��%.=�0*�
��
��#���*��#��0*�%�!���*����  9  ����%.=����
����  


����%�!��%�!���=���
��% 
 

2. %�!*�
�����*�=#?��� �� 120 *�$��F��F�
  1����*�
��
�� 20 D���>��
����%�!��%#�%���
>����*��%�2�#
��%�!���*� #�����%*��#��
�� 20 D���>�� 1����
�����*
�����%�!��%����*��%  

 
�5�	
�T9��	
�&��� 

1. %�!*��#��
�����*�=#?��� �� (105 ���110 *�$��F��F�
 ) 1������9���*��%.=����%�
?�1
0*�
��
�����*��#���4*
������%�!��%�!���=���
��%  ��#���	4�*���%	3,���%�!!��#
**%��%
>�
�p1������!���=���
��%�!!��#
!���!E���%%����!���=���	"	��% ��9��,�"#�
��
���!���=
���
#����*
���!���!E���%%������	"	 
��
���2���%�!��%�!���=���
   ��	%�!>����*�%����%
%�!!��#
0*�	3,����9��
����3� 2 ���	
������%�	 *�	�	4�*���%�����!E������1��9��	, ����!�*	��� � �
*
��?�
"	%*�
�� >�
���	����������!E�����% #!4*����!�*	 � ���%����9���*%�!!��#
	3,�
��%�%�	1*�� �,�"#�
���%��%�!#������%%���*�%���	 �2��%���!��2��,�"#�
���%��%�!>����* 

2.  *��!�%�!*��#��
��0*�%�!���*���� 9 ��4�*���
�%��%�!���*���� 8 1����*��!�%�!*��#��
0*�
����%%�!���*����9����� ��%���%�!���*����8 *��!�%�!����0*�����D43	"	���� 20 D���>��
0*�%�!���*���� 8 �!���= 25-30 % ���!/�	�#��    ��	%�!���*���� 9 ��������� 40-45 % 
���!/�	�#��   
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�	
 
�� 
:�����! 
1.  ��!��*�=#?���%�!*��#�� >�
��%%�!���*�1����*�=#?���0*�%�!*���� 105 ���110   

*�$��F��F�
  ��3����D����!%0*�%�!*��,�"#�
��
����%�*��%    ���	�3	"	%�!���*��!�3���*
�
��!�1���*�=#?���*��#��"#�D���� >�
 20 D���>���!% *��"D�*�=#?������ 100  ���105  *�$�
�F��F�
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�	
�&������ 10 

 
��	������*�  15/7/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100, 105 ���110  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

�5��

#�U���	
�&��� 

•    F�*�#��*���	3,� (Boiler) �	4�*���%��*!���
	3,�!����1!�����"D���	��#��
�+�2������
	��*
!���
	3,�"#�� 

9��	
�&��� 
         1.  ��%.=�
�����*��#�� 

 
-	. 
������� !-12  ��%.=�0*�
��
��#���*��#��0*�%�!���*����  10  ����%.=������  


������%.=��!�
����%�!��%�!���=���

�� 
 

2. %�!�� *����F�� �*� (Prong test) 
    1����%�!�� *����F�� �*�0*����*
���
����*	��� 1 1������4�*9��	�1�
� 20 	��� 
��%E�%��

%�!>����**
���D����	�����4�*9��	
� 24 D���>�� 1����
����%�!>����**
�����% ���?�1�!�%*���� 
0-13 
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-	. 
������� !-13   
��
��#���*��#�����
��9��	%�!�� *����F�� �*� 

 

3. ����D43	 �����
0*�
�����*
�����%��*	������D43	 �����
��,�%��� 15% ���!/�	�#��    
 ��	%�!��%�*0*�
����3�%*�*
����� 20 ��*	��% 100 ��*	 ������	 20%  

 
�5�	
�T9��	
�&��� 

1. 
�����9��	%!���	%�!*��#�������!�%Z�����%�!��%*
��  20 ��*	 (20%) ������!���=
������%%�!���*���� 7, 8 ��� 9  ��#�����%�!��%�*�����1!�����"	!�#����%!���	%�!
*��#����%�!������*�=#?���%�!*�"#������������%,�#	� *�=#?���
�� ��%������%,�#	���%%�	
�
��� ��%�!����������D43	 ��1��78*�%�$D���%�!*����
��!�*	"#�*
��"	!���������*�%�!
������
*
���!���!E��%�	
� 

2. %�!�� *����F�� �*�1����
��
��������������	��% 
����*�$2%.�#�%!���	%�!*�
"	D������
5�14�*���������	"	�	43*
�� %�!1
�
����������%����!�#��������D43	���9��
��%��
?�
"	�	43*
��"#�
���%�	 5% ���!/�	�#�� ���%�!*�
��D������
5���
����!�*	���
�� ��	�%  

 

�	
 
�� 
:�����! 
1. ��*�=#?���%�!*��#�� >�
%�!���*�1����*�=#?���0*�%�!*���� 110 *�$��F��F�
  

���	*�=#?������ 105  *�$��F��F�
    
   2. $2%.�%!���	%�!���������	���
������%"	�	43*
�� >�
��*�=#?���%�!*�D�����!�*	

"	D������
 D���>����� 50-70 ��%  80  *�$��F��F�
   �����#�4* 60-70  *�$��F��F�
  ���D���
���
 ����*�*����

*	3,�!�*	*�������14�*�1�������D43	"#��%�9��
�� 
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�	
�&������ 11 

 
��	������*�  25/7/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100 ��� 105  *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

9��	
�&���       
         1. ��%.=�
�����*��#��   

 
-	. 
������� !-14 ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 11  ����%.=������  


������%.=��!�
����%�!��%�!���=���

�� 
 

2.  %�!�� *����F�� �*� (Prong test) 
                %�!�� *����F�� �*�0*����*
���
����*	��� 4 1������4�*9��	�1�
� 20 	��� 
��%E�%��%�!
>����* ���?�1�!�%*� 0-15 
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3. ��%.=�
�����*
�����3� 12 ��*	����%.=����
*�!��
����%��*	 >�

�����*��#������1������

�����������D43	��,�%��� 15% ���!/�	�#�� *
�� 10 ��*	 
���������D43	 ��%��� 15% ���!/�	�#�� �4* 
��*	��� 10 (16.5%) �����*	��� 11 (16.9%)    

4.  ��	�!���=
����%����*��3�%*�
��#���*��#���� 35 ��*	 ��% 300 ��*	 (12%) >�

�,��#	��
�������%�*��*
���!���=0*�0*�%*�
����3� *����	�1!�� ��9� %��
*	3,�!�*	��% 
 

0
5

10
15
20
25
30
35
40
45
50
55
60
65
70
75
80
85
90
95

100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80

Time (hr)

M
o

is
tu

r
e

 c
o

n
te

n
t 

(D
r

y
 b

a
si

s)

����� 1 ����� 2 ����� 3 ����� 4

����� 5 ����� 6 ����� 7 ����� 8

����� 9 ����� 10 ����� 11 ����� 12
 

          
 -	. 
������� !-16   %!�f� ��%�!�����
	��������D43	0*�
��!�#����%!���	%�!*��#�� 

 

 

  -	. 
������� !-15 
��
��#���*��#�����
��9��	%�!�� *����F�� �*� 
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�5�	
�T9��	
�&��� 
1. %�!*��#��
��
�� 300 ��*	 "D�����*��#��	�	 72 D���>�� �,����	��*���%�!�!���!��"#���

%�!*����� >�
%�!%!�f%�!�#��0*�
��
��1����"	D���>����� 0-35 D���>�� ����*���%�!����
0*�	3,�#	�%
��"#���%%���	�3  >�
%�!�1���*��!�%�!
#�0*���!�*	"#���%023	��% 5 ��%��$%8���!
��*	��� ���	 10 ��%��$%8���!��*	���  

2. �������	
��
��#���*��#������% �%�
0
��>�
%�!"D�
*	3,�*�������14�*�1�������D43	"#�9��

���14�*"#�����D43	�������%023	 �2����������	"	
��
����% 
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�	
�&������ 12 

 
��	������*�  20/8/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100 ���105 *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

 
 9��	
�&��� 
        1. ��%.=�
�����*��#�� 

 
-	. 
������� !-17  ��%.=�0*�
��
��#���*��#��0*�%�!���*����  12  ����%.=������  


������%.=��!�
����%�!��%�!���=���

�� 
     

2. %�!�� *����F�� �*� (Prong test) 
1����%�!�� *����F�� �*�0*����*
���
����*	��� 1 ��� 8 ��4�*9��	
� 24 D���>�� 1����


��
����%�!>����* ���?�1�!�%*���� 0-18 
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-	. 
������� !-18  
��
��#���*��#�����
��9��	%�!�� *����F�� �*� 
 

3. ��%.=�
�����*
�����3� 9 ��*	����%.=����
*�!��
����%��*	 >�

�����*��#������1����
��
��%��*	������D43	��,�%��� 15% ���!/�	�#��  

4.  ��	�!���=
����%����*��3�%*�
��#���*��#���� 20 ��*	 ��% 300 ��*	 (7%) >�

�,��#	��
�������%�*��*
���!���=0*�0*�%*�
����3� *����	�1!�� ��9� %��
*	3,�!�*	��% 
 

0
5
10
15
20
25
30
35
40
45
50
55
60
65
70
75
80
85
90
95
100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70

Time (hr)

M
o

is
tu

re
 c

o
n

te
n

t 
(d

.b
.)

������	
 1 ������	
 2 ������	
 3 ������	
 4 ������	
 5

������	
 6 ������	
 7 ������	
 8 ������	
 9
 

 
  -	. 
������� !-19  %!�f� ��%�!�����
	��������D43	0*�
��!�#����%!���	%�!*��#�� 
 

 



 101 

�5�	
�T9��	
�&��� 
1.  ���!�������*��#����% 72 D���>�� �#�4*�1�
� 68 D���>�� >�
���
���#����,�%��� 15% 

���!/�	�#��  F2�����	9�����%%�!���!���=
*	3,�
���
��"#�	�*
�� >�
���%�!"D�	3,�����%�� 0.04 
���!��*D���>��  �,�"#�����#	��	�	0*�
*	3,�"	#�*�*����� 

2. 
��
����%�!���=���

����% %�!����0*�
�������%�,�
��>�
%�!������%*�
��"#�� 
��
���	 (stickers) ���	 4 *�	��*D�3	  "#�
��*
���!���=���

���14�*�������!E���������

�� 
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�	
�&������ 13 

 
��	������*�  6/9/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100 ���105 *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

9��	
�&��� 
         1.  ����D43	
����� ���!�#����%!���	%�!*��#��  
 
��*	��� ����D43	(% db) �������   

  0 9 16 23 28 34 40 58 64 

1 83.56 56.16 37.67 29.45 24.66 21.23 17.12 10.96 9.59 

2 77.08 50 35.42 27.78 24.31 20.14 17.36 10.42 10.42 

3 88.68 64.15 48.43 38.36 32.7 28.3 23.9 15.72 13.84 

4 91.78 67.81 53.42 44.52 37.67 32.19 27.4 17.12 14.38 

5 80 56.88 45.63 38.75 34.38 30 25.63 18.13 15 

6 76.32 51.97 39.47 32.89 28.95 25.66 22.37 14.47 13.16 

7 89.73 64.38 52.05 43.15 36.99 32.19 28.08 17.81 14.38 

8 84.93 63.7 51.37 43.84 39.73 33.56 30.82 16.44 14.38 

9 86.67 60 48 40 34 28.67 24.67 16.67 14.67 

 
�#	$��
:  
        1. ��%.=�
�����*
�����3� 9 ��*	����%.=����
*�!��
����%��*	 >�

�����*��#������1����
����%��*	��
����D43	��,�%��� 15% ���!/�	�#��       
        2. �!���=
����%����*��3�%*�
��#���*��#���� 10 ��*	��% 300 ��*	 (3.3%)  >�
�,��#	��
�������%���
�*��*
���!���=0*�0*�%*�
����3� *����	�1!�� ��9� %��
*	3,�!�*	��% 
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         2. ��%.=�
�����*��#�� 

 
-	. 
������� !-20 ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 13  ����%.=������  


������%.=��!�
����%�!��%�!���=���

�� 
                

3.  %�!�� *����F�� �*� (Prong Test) 
 %�!�� *����F��F�*�
�� 2 ��*	�4*
����*	��� 1 ��� 8 ��4�*9��	
� 24 D���>�� 1����
��
����

%�!>����* ���?�1�!�%*� 0-21 
 

 
 

 -	. 
������� !-21 
��#���*��#����*	��� 8 ���9��	%�!�� *����F�� �*� 
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������	
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 8 ������	
 9

 
        
-	. 
������� !-22 %!�f� ��%�!�����
	��������D43	0*�
��!�#����%!���	%�!*��#�� 
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  -	. 
������� !-23  %!�f� ��0�*���*�=#?����������D43	 ��1��78�!!
�%�$0*�#�*�*�"	 

!�#����%!���	%�!*��#�� 
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�5�	
�T9��	
�&��� 
1. �������"D� ,�#!��*��#�������#�4* 64 D���>�� �1���*��!�%�!�#��"#���%023	 %�!��*��!�

%�!
#�0*�
*	3,�!�*	"#������#�4* 0.03 ��%��$%8���!��*D���>�� �,�"#�����#	��	�	0*�
*	3,�
��	�*
��%�!!��#
0*�	3,�**%��%
�������
 

2.     %�!�� *����F�� �*�1����
*�!��
��  �������	�����*
��"	
����	�*
��% 
3. 
��
����3�%*�#���*��#��1����
����
����%*
�� 3.3% 0*�
����3�#�� F2��������%%�!

���*��!�3��������  ��3�	�3%�!������%*�
��
��"	!�����"#����9���*%�!��%�!��%�!���=���

�� 
 

�	
 
�� 
:�����! 
1. ��*��!�%�!
#�0*�
*	3,�!�*	�0��#�*���"#�	�*
%��� 0.03 ��%��$%8���!��*D���>�� �14�*"#�	3,�

"	�	43*
��!��#

�����
023	 
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�	
�&������ 14 

 
��	������*�  20/8/49 
�-	���	
�&���  

•   *�=#?���#�*�D���
*	3,�!�*	
��
���"D����*�=#?��� 100 ���105 *�$��F��F�
    
•   *�=#?���#�*�D�����!�*	"D����*�=#?��� 80 *�$��F��F�
  

 
 9��	
�&��� 
         1. ����D43	
����� ���!�#����%!���	%�!*��#��  
    
��*	��� ����D43	 (% d.b.) ������� (D���>��) ����5 

  0 9 16 23 28 34 40 58 64 

1 86.26 59.54 44.27 35.11 29.77 26.72 22.14 11.45 9.16 

2 87.33 62 45.33 37.33 33.33 30 25.33 15.33 13.33 

3 87.76 62.59 47.62 39.46 36.05 31.97 28.57 15.65 12.24 

4 87.59 63.5 48.18 39.42 34.31 30.66 26.28 16.06 13.87 

5 83.87 63.87 49.68 41.29 37.42 34.19 25.81 17.42 14.84 

6 86.76 61.03 47.79 39.71 33.82 30.15 25.74 16.91 13.97 

7 81.69 60.56 47.89 40.14 34.51 30.99 26.76 17.61 14.79 

8 78.67 60.67 49.33 41.33 37.33 32.67 29.33 16.67 14.67 

9 84.4 63.12 49.65 41.13 35.46 31.21 27.66 17.02 14.18 
 

�#	$��
:  
        1. ��%.=�
�����*
�����3� 9 ��*	����%.=����
*�!��
����%��*	 >�

�����*��#������1������
����%��*	���
����D43	��,�%��� 15% ���!/�	�#��      
        2. �!���=
����%����*��3�%*�
��#���*��#���� 12 ��*	��% 300 ��*	 (4%) >�
�,��#	��
�������%�*��*
��
�!���=0*�0*�%*�
����3� *����	�1!�� ��9� %��
*	3,�!�*	��% 
 

 
 
 



 107 

2. ��%.=�
�����*��#�� 

   
-	. 
������� !-24  ��%.=�0*�
��
��#���*��#��0*�%�!���*���� 14  ����%.=������  


������%.=��!�
����%�!��%�!���=���

�� 
 
   3.  %�!�� *����F�� �*� (Prong Test)         

  %�!�� *����F�� �*�0*�
��*��#����*	��� 1, 3, 5 ��� 9 ��4�*9��	
� 24 D���>�� 1����
��

����%�!>����*%�! ���?�1�!�%*����  

 
-	. 
������� !-25  
����*	��� 3 ���9��	%�!�� *����F�� �*� 
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 4 ������	
 5
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 7 ������	
 8 ������	
 9
 

      
-	. 
������� !-26 %!�f� ��%�!�����
	��������D43	0*�
��!�#����%!���	%�!*��#�� 
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 -	. 
������� !-27 %!�f� ��0�*���*�=#?����������D43	 ��1��78*�%�$0*�#�*�*�"	  

!�#����%!���	%�!*��#�� 
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�5�	
�T9��	
�&��� 
  1.  %�!�!�� *�����D43	���9��
��%������D43	?�
"	�	43*
�� 1����%�!*��#��D������
"D�
*

	3,�!�*	*�������14�*�1�������D43	"#��%�9��
�� �,�"#�����D43	9��
��%���	43*
�������
������%�	��%
���%�	 
5% ���!/�	�#�� ��9���*%�!������������	"	�	43*
��  9�%�!�� *����F�� �*�0*�
��#���
*��#��1����
*�!��
��  �������	�����*
��"	
����	�*
��%  

2.  
��
����3�%*�#���*��#��1����
����
����%*
�� 4% 0*���3�#�� F2���������%%���%�!���*�
��� 13  �4* 3.3% ���!/�	�#�� ��E%	�*
 ��3�	�3*��023	%������#��%#��
�����%.=����%�
?�1
0*�
�����	,������*� �2���9���*%�!��%���0*�
��         

3.   1�����	����!�*	���"D�"	%�!*��#��
��
��0*�%!���	%�!*��#�����

*	3,�
���
�������
����%��   12.2  ��%�����8��*%�>�%!��	3,����!��#
     ��4�*��!�
����
�%��������*�%�!1�����	0*�
%�!*�
���	43**�*	�2��	43*�0E�*
����� 4.7-7.0 ��%�����8��*%�>�%!��	3,����!��#
   1����%�!*��#�����


*	3,�!�*	
��
�����������*�%�!1�����		�*
%���%�!*��������
�  (conventional drying)  ���	�3	
"	%!���	%�!*��#�����

*	3,�
���
�� �2�D��
�!�#
����	��	���	1�����	���"D�
����% 

4.  
��
��*��#������� *���= ������D��%���������%.=������������
����4�*��!�
����
�%��
��
��
���*��#��0*�>!���	*�� �#%!!�     �������������	�p4*	�����	�*
%�����E%	�*
��������%����%�	
*
�����	�
 ,���- 

 
�	
 
�� 
:�����! 

1. %�!���!���=%�!"D�1�����	 ,�#!��%!���	%�!*��#��
����!��%�!"D�!���������%�!
�,���	*��>	������3�!����1!��*��%!=8���"D�*��#�����	���������>�
�	 (Manual) �%4*���3�
!��� ���1�
�!�������������D43	 ��1��78*�%�$������	!������������%2��*��>	����F2������*�
%,�#	� �������D43	 ��1��78��%���������#	����	 %�!������%�!�,���	���
�	�%4*���3�
%!���	%�!���%������9��1���
�� �� ��3�	�3�1!������*�*	�����%%�!�Z�������	�����*�	4�*�
���	���� 3 ��	 
��9�"#��%������9��1���0*�%�!������*��%!=8 �������*��%!=8 �D�	#��*���	3,�
F2����*����������%D���%�!*��#���,�"#�����!�3�*���4��������   	*%��%	�3%�!%,�#	���3����
*�=#?���#!4*����D43	������������*����3����9��1����	4�*���%�����������#��
������%�!*����	���
 ���!�#����
*	3,�!�*	%����!�*	 �,�"#���*���3�������������%�!�,���	��% 5-6 D���>�� 
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-	L9��� L 
 

!��#+�!��L:��#��
5�;5���!���#�$	� 
 


	
	���� L-1  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*��������	�p4*	0	�	� �3
	 (Shear Strength 
Parallel to Grain)  0*�
��
�����*��#�����

*	3,�
���
��%����!�*	 = �������D43	�p���
 
13.6% ������������,��1���p���
 0.64 

 
D�3	�� *���� �������	�p4*	0	�	� �3
	 ����D43	 ���������,��1�� 

 (MPa) (% d.b.)  
1 17.75 14.75 0.68 
2 18.00 14.79 0.67 
3 18.14 14.21 0.64 
4 10.32 13.94 0.63 
5 15.95 14.54 0.62 
6 16.40 14.60 0.61 
7 15.01 12.07 0.61 
8 17.13 12.10 0.60 
9 17.67 14.88 0.62 
10 12.60 15.05 0.62 
11 19.15 12.15 0.71 
12 19.61 12.33 0.68 
13 18.22 11.92 0.63 
14 17.43 11.99 0.62 
15 13.25 13.73 0.62 
16 12.74 13.12 0.63 
17 16.23 13.51 0.58 
18 16.40 13.49 0.59 
19 9.87 14.49 0.66 
20 22.62 14.07 0.67 

����p���
 16.225 13.587 0.635 
 ��	����
���	���!/�	 3.157 1.120 0.034 

 ���!� ��7��������!9�	 (%) 19.460 8.246 5.301 
 
* �� *�����#����
���
���
��%.=8 
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	���� L-2  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*��������	�p4*	0	�	� �3
	 (Shear Strength 
Parallel to Grain)  0*�
��
����� ?������9��	%�!*��������
���%>!���	 = ���
����D43	�p���
 9.4% ������������,��1���p���
 0.70 

 
D�3	�� *����  �������	�p4*	0	�	� �3
	 ����D43	 ���������,��1�� 

  (MPa) (% d.b.)   
1 15.88 9.80 0.67 
2 14.91 9.90 0.70 
3 14.18 9.80 0.66 
4 14.86 9.70 0.70 
5 15.96 9.30 0.73 
6 16.90 9.70 0.71 
7 15.90 9.80 0.68 
8 15.48 10.20 0.69 
9 14.40 9.20 0.67 
10 18.44 9.30 0.68 
11 15.81 9.00 0.72 
12 14.40 9.50 0.68 
13 14.64 9.50 0.73 
14 15.93 9.50 0.68 
15 14.42 9.40 0.66 
16 14.74 8.30 0.72 
17 13.93 9.40 0.68 
18 16.41 8.80 0.73 
19 16.64 8.60 0.73 
20 13.07 9.00 0.70 

����p���
 15.34 9.4 0.70 
 ��	����
���	���!/�	 1.232 0.47 0.020 
 ���!� ��7��������!9�	 (%) 8.0 5.0 3.5 
 

* ��	����
0*� y%	%�!!= ���9��. 2546. %�!*�
��
�����

*	3,�
���
��. ?����D���$�%!!����� �=�-
��$�%!!�$� �!8   �#����
���
 �0��	�!�	�!8 ���
��0�#��"#-�.{ 
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	���� L-3  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*��������	*��0	�	� �3
	 (Compression 
Strength Parallel to Grain) 0*�
��
�����9��	%�!*����

*	3,�
���
��%����!�*	 = ���
����D43	�p���
 13.6% ������������,��1���p���
 0.64 

 

D�3	�� *����  �������	*��0	�	� �3
	            ����D43	 ���������,��1�� 
  (MPa) (% d.b.)   
1 31.51 14.75 0.68 
2 38.75 14.79 0.67 
3 41.24 14.21 0.64 
4 42.47 13.94 0.63 
5 32.47 14.54 0.62 
6 34.21 14.60 0.61 
7 45.53 12.07 0.61 
8 45.43 12.10 0.60 
9 34.07 14.88 0.62 
10 35.17 15.05 0.62 
11 46.98 12.15 0.71 
12 47.67 12.33 0.68 
13 49.70 11.92 0.63 
14 48.38 11.99 0.62 
15 27.95 13.73 0.62 
16 35.11 13.12 0.63 
17 35.13 13.51 0.58 
18 38.18 13.49 0.59 
19 44.52 14.49 0.66 
20 44.20 14.07 0.67 

����p���
 39.934 13.587 0.635 
 ��	����
���	���!/�	 6.473 1.120 0.034 
 ���!� ��7��������!9�	 (%) 16.209 8.246 5.301 
 
 * �� *�����#����
���
���
��%.=8 
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	���� L-4  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*��������	*��0	�	� �3
	 (Compression 
Strength Parallel to Grain) 0*�
��
�����9��	%�!*��������
���%>!���	 = ���
����D43	�p���
 9.7% ������������,��1���p���
 0.68 

 

D�3	�� *����  �������	*��0	�	� �3
	 ����D43	  ���������,��1�� 
  (MPa) (% d.b.)   
1 47.16 9.6 0.70 
2 51.91 9.8 0.68 
3 50.59 9.5 0.67 
4 54.10 9.9 0.72 
5 64.09 9.7 0.73 
6 50.49 9.9 0.68 
7 50.23 9.6 0.68 
8 50.83 10.0 0.67 
9 50.83 9.6 0.65 
10 53.49 9.7 0.69 
11 46.74 9.8 0.66 
12 59.67 9.4 0.69 
13 52.47 9.5 0.69 
14 50.67 9.7 0.66 
15 51.87 9.6 0.70 
16 49.78 9.8 0.67 
17 53.86 9.5 0.68 
18 53.40 9.8 0.69 
19 51.23 9.7 0.68 
20 59.68 9.7 0.70 

����p���
 52.66 9.7 0.68 
 ��	����
���	���!/�	 4.21 0.16 0.02 
 ���!� ��7��������!9�	 (%) 8.0 1.7 2.8 
 

*   ��	����
0*� y%	%�!!= ���9��. 2546. %�!*�
��
�����

*	3,�
���
��. ?����D���$�%!!����� �=�-
��$�%!!�$� �!8   �#����
���
 �0��	�!�	�!8 ���
��0�#��"#-�.{ 
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	���� L-5  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*��������	*����3�p�%� �3
	 (Compression 
Strength Perpendicular to Grain) 0*�
��
�����9��	%�!*����

*	3,�
���
��%����!�*	 
= �������D43	�p���
 13.6% ������������,��1���p���
 0.64 

 

D�3	�� *����  �������	*����3�p�%� �3
	 ����D43	 ���������,��1�� 
  (MPa) (% d.b.)   
1 20.20 14.75 0.68 
2 19.21 14.79 0.67 
3 17.50 14.21 0.64 
4 18.60 13.94 0.63 
5 21.09 14.54 0.62 
6 15.62 14.60 0.61 
7 18.90 12.07 0.61 
8 13.58 12.10 0.60 
9 16.90 14.88 0.62 
10 18.85 15.05 0.62 
11 23.54 12.15 0.71 
12 20.00 12.33 0.68 
13 21.64 11.92 0.63 
14 20.32 11.99 0.62 
15 15.62 13.73 0.62 
16 13.24 13.12 0.63 
17 16.43 13.51 0.58 
18 14.72 13.49 0.59 
19 20.87 14.49 0.66 
20 19.52 14.07 0.67 

����p���
 18.318 13.587 0.635 
 ��	����
���	���!/�	 2.789 1.120 0.034 
 ���!� ��7��������!9�	 (%) 15.227 8.246 5.301 
 
* �� *�����#����
���
���
��%.=8 
 
 
 
 



 115 


	
	���� L-6  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*��������	*����3�p�%� �3
	 (Compression 
Strength perpendicular to Grain) 0*�
��
�����9��	%�!*��������
���%>!���	 = ���
����D43	�p���
 9.4% ������������,��1���p���
 0.69 

 
D�3	�� *����  �������	*����3�p�%� �3
	 ����D43	  ���������,��1�� 

  (MPa) (% d.b.)   
1 1.98 9.7 0.67 
2 2.48 9.1 0.70 
3 2.03 9.4 0.72 
4 1.91 9.7 0.68 
5 1.91 9.3 0.69 
6 1.88 9.3 0.66 
7 2.03 9.7 0.67 
8 2.66 9.6 0.72 
9 1.98 9.5 0.69 
10 1.90 9.1 0.70 
11 2.06 9.4 0.70 
12 2.26 9.4 0.69 
13 2.06 9.2 0.68 
14 2.03 9.2 0.70 
15 1.96 9.3 0.69 
16 2.56 9.8 0.67 
17 2.10 9.2 0.72 
18 1.88 9.3 0.68 
19 2.29 9.2 0.75 
20 1.94 9.1 0.71 

����p���
 2.06 9.4 0.69 
 ��	����
���	���!/�	 0.179 0.22 0.021 
 ���!� ��7��������!9�	 (%) 8.7 2.3 3.0 
 
*   ��	����
0*� y%	%�!!= ���9��. 2546. %�!*�
��
�����

*	3,�
���
��. ?����D���$�%!!����� �=�-
��$�%!!�$� �!8   �#����
���
 �0��	�!�	�!8 ���
��0�#��"#-�.{ 
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	���� L-7  ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of Variation) 0*�>����� ��%#�%���>����� 
4�#
��	 (Modulus 
of Rupture and Modulus of Elasticity) 0*�
��
�����9��	%�!*����

*	3,�
���
��%����
!�*	 = �������D43	�p���
 13.6% ������������,��1���p���
 0.64 

 
D�3	�� *���� >����� ��%#�% >����� 
4�#
��	 ����D43	 �������� 

 (MPa) (MPa) (% d.b.) �,��1�� 
1 83.00 18463 14.75 0.68 
2 79.00 10388 14.79 0.67 
3 80.00 13949 14.21 0.64 
4 85.00 11315 13.94 0.63 
5 60.00 7005 14.54 0.62 
6 58.00 6679 14.60 0.61 
7 110.00 12215 12.07 0.61 
8 102.00 11747 12.10 0.60 
9 86.00 10672 14.88 0.62 
10 85.00 11550 15.05 0.62 
11 94.00 23932 12.15 0.71 
12 86.00 11572 12.33 0.68 
13 89.00 13464 11.92 0.63 
14 96.00 18239 11.99 0.62 
15 73.00 19320 13.73 0.62 
16 70.00 9610 13.12 0.63 
17 91.00 11286 13.51 0.58 
18 87.00 13468 13.49 0.59 
19 89.00 9304 14.49 0.66 
20 81.00 9380 14.07 0.67 

����p���
 84.200 12677.900 13.587 0.635 
 ��	����
���	���!/�	 12.526 4319.488 1.120 0.034 

 ���!� ��7��������!9�	 (%) 14.877 34.071 8.246 5.301 
 

.* �� *�����#����
���
���
��%.=8 
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	���� L-8 ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of  Variation) 0*�>����� ��%#�%���>����� 
4�#
��	 (Modulus 
of Rupture and Modulus of Elasticity) 0*�
��
�����9��	%�!*��������
���%>!���	 
= �������D43	�p���
 9.1% ������������,��1���p���
 0.69 

 
D�3	�� *����  >����� %�!��%#�% >����� 
4�#
��	 ����D43	  �������� 

  (MPa) (MPa)  (% d.b.) �,��1��  
1 102.20 7875.5 9.20 0.65 
2 115.50 10538.4 9.00 0.72 
3 114.70 9985.9 9.30 0.67 
4 104.70 8736.3 8.90 0.67 
5 80.60 7930.8 9.10 0.64 
6 115.60 9334 9.00 0.69 
7 114.40 10217 9.30 0.69 
8 102.90 8930.3 9.30 0.68 
9 113.60 9311.8 9.20 0.70 
10 111.90 9775.6 9.00 0.68 
11 125.20 14904.4 9.30 0.73 
12 117.70 10543.7 9.20 0.71 
13 91.90 8749.3 9.20 0.70 
14 92.30 8294.5 9.10 0.66 
15 96.70 8159.6 9.10 0.64 
16 112.80 9701.5 9.10 0.74 
17 106.80 10299.3 9.00 0.68 
18 108.40 9064.5 9.50 0.67 
19 118.70 11085.4 9.00 0.70 
20 105.70 10259.9 8.80 0.69 

����p���
 107.0 9721.4 9.148 0.69 
 ��	����
���	���!/�	 11.42 1605.56 0.153 0.026 
 ���!� ��7��������!9�	 (%) 10.7 16.512 1.669 3.8 
 

*   ��	����
0*� y%	%�!!= ���9��. 2546. %�!*�
��
�����

*	3,�
���
��. ?����D���$�%!!����� �=�-
��$�%!!�$� �!8   �#����
���
 �0��	�!�	�!8 ���
��0�#��"#-�.{ 
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	���� L-9 ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������
��!9�	 (Coefficient of  Variation) 0*������0E� (Hardness) 0*�
��
����� ?���
����D43	�������#	��	�	�,��1���p���
0*�
��
�����9��	%�!*����

*	3,�
���
��%��
��!�*	 =  ����D43	�p���
 13.6% ������������,��1�� 0.64 

 
D�3	�� *����  >����� %�!��%#�% ����D43	  ���������,��1�� 

  (N) (% d.b.)   
1 10096.80 14.75 0.68 
2 5593.91 14.79 0.67 
3 5101.48 14.21 0.64 
4 5577.76 13.94 0.63 
5 5214.13 14.54 0.62 
6 5645.76 14.60 0.61 
7 6194.65 12.07 0.61 
8 6147.77 12.10 0.60 
9 5976.76 14.88 0.62 
10 4700.71 15.05 0.62 
11 5939.50 12.15 0.71 
12 5140.69 12.33 0.68 
13 4997.54 11.92 0.63 
14 5409.82 11.99 0.62 
15 4581.64 13.73 0.62 
16 5240.37 13.12 0.63 
17 5622.63 13.51 0.58 
18 4743.78 13.49 0.59 
19 5224.77 14.49 0.66 
20 6691.46 14.07 0.67 

����p���
 5692.097 13.587 0.635 
 ��	����
���	���!/�	 1170.097 1.120 0.034 
 ���!� ��7��������!9�	 (%) 20.557 8.246 5.301 
 
.* �� *�����#����
���
���
��%.=8 
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	���� L-10   ����p���
 (Mean),  ��	����
���	���!/�	 (Standard Deviation),  ���!� ��7������  
��!9�	 (Coefficient of Variation) 0*������0E� (Hardness) 0*�
��
����� ?���
����D43	�������#	��	�	�,��1���p���
0*�
��
�����9��	%�!*���%>!���	
*�� �#%!!�  =  ����D43	�p���
 9.4% ������������,��1�� 0.68 

 
D�3	�� *����  �����0E� ����D43	  ���������,��1�� 

  (N) (% d.b.)   
1 3236.2 9.6 0.65 
2 4511.0 9.4 0.68 
3 5099.4 9.3 0.68 
4 5021.0 9.5 0.68 
5 4942.6 9.9 0.66 
6 5236.8 9.5 0.68 
7 5393.6 9.4 0.73 
8 5119.1 9.4 0.71 
9 4903.3 9.4 0.68 
10 5001.4 9.2 0.67 
11 5050.4 9.3 0.68 
12 4530.7 9.4 0.68 
13 4373.8 9.3 0.68 
14 5540.8 9.5 0.67 
15 4981.8 9.4 0.68 
16 5099.4 9.2 0.70 
17 4756.2 9.7 0.68 
18 5001.4 9.7 0.69 
19 4805.2 9.0 0.65 
20 5197.5 9.9 0.69 

����p���
 4890.1 9.4 0.68 
 ��	����
���	���!/�	 481.81 0.23 0.020 
 ���!� ��7��������!9�	 (%) 9.8 2.4 2.7 
 
*   ��	����
0*� y%	%�!!= ���9��. 2546. %�!*�
��
�����

*	3,�
���
��. ?����D���$�%!!����� �=�-
��$�%!!�$� �!8   �#����
���
 �0��	�!�	�!8 ���
��0�#��"#-�.{ 
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-	L9��� � 
 

�: �
�T��	�
��8;��&���8��	��5��$ 
 

 

 
 

 

 

 
 

 

 

-	. 
������� �-1 #�*�*��#��
��
��"	!����%2��*�� �#%!!� 

-	. 
������� �-2 ��!4�*��,�����!�*	?�
	*%#�*�*�
��
�� 
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-	. 
������� �-3  %��*���������!4�*��,�����!�*	?�
	*%#�*�*�
��
�� 

-	. 
������� �-4  1�����!���	 �� (high pressure blower) 
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-	. 
������� �-5 ��!4�*��,�����!�*	?�
"	#�*�*�
��
�� 

-	. 
������� �-6  %��*���������!4�*��,�����!�*	?�
"	#�*�*�
��
�� 
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-	. 
������� �-8  %��*�������%�!����������8��14�*����������D43	 

-	. 
������� �-7  *��%!=8�������D43	 (relative humidity meter) 
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-	. 
������� �-10  ��*�,����
�
*	3,� 

-	. 
������� �-9  ������ (air compressor) 
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-	. 
������� �-12 #��*���	3,� (boiler) 

 -	. 
������� �-11  ��%.=�%�!������0*���*�,����
�
*	3,������!�*	���"D���	�!�� 
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-	. 
������� �-13  ��!4�*��� *���= ������D��%�0*�
��
�� (Lloyd Universal Testing Machine) 

-	. 
������� �-14  ���*�
ffQ� (electrical oven) 
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-	. 
������� �-15   �
���*�=#?��� (thermocouple) 

-	. 
������� �-16 *��%!=8��	�2%��� ��0�*��� (data logger) 
��#�* Wisco !��	 AI 210 
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-	. 
������� �-17  �*�1����*!8��3�>��� (desktop computer) 
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-	L9��� � 

 


	
	��	
�������#�$	� 
 


	
	���� �-1 ��!��*��#��
��
��0*�>!���	*�� �#%!!� 
 

Moisture content of            Temperature  Relative Humidity* Equilibrium Moisture  

Rubberwood (%) Dry bulb Wet bulb (%) Content* (%) 

> 50 70 51 38 5.3 
40-49 70 49 37 5 
30-39 70 47 32 4.5 
25-29 75 49 24 3.5 
20-24 75 53 36 4.8 
15-19 75 58 45 5.5 
10-14 80 50 18 2.5 

 

�����: >!���	!��?���1�!�����, ���#��� �0�� 
* /�	�	�!8$�%��� ��1-� (2541) 

 


	
	���� �-2  ��!��*��#��
��
�����

*	3,�
���
��%����!�*	 
 

Period 

 

Superheated Steam Hours  

(°C) 

Hot Air Hours 

 (°C:%RH) 

1 4(100°C)+4(105°C) 1(70:85%RH) 
2 4(100°C)+2(105°C) 1(70:80%RH) 
3 2(100°C)+4(105°C) 1(65:70%RH) 
4 4(105°C) 1(65:65%RH) 
5 3(100°C) 3(65:55%RH) 
6 1(100°C) 5(60:45%RH) 
7 - 18(75:40%RH) 
8 6(100°C) - 
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-	L9��� m 
 

�	
� 
�$����$�L:��#��
5�;5���!���#�$	�*&$8;� 

* 
��
#�5�L
	��T�	��`5
5 (SPSS 11) 
 

 

	
	���� m-1 %�!�� *�>�
�� (T-test)  >�
>�!�%!�����!��#8��� ���� (SPSS 11)                                  
 

    Mean N Std. Deviation Std. Error Mean 
Pair 1 Su_Shear strength 16.2 20 3.16 0.71 
 Ra_Shear strength 15.3 20 1.23 0.28 
Pair 2 Su_Compression parallel 39.9 20 6.47 1.45 
 Ra_Compression parallel 52.6 20 4.21 0.94 
Pair 3 Su_Compression perpendicular 18.3 20 2.79 0.62 
 Ra_Compression perpendicular 2.1 20 0.20 0.04 
Pair 4 Su_Hardness 42986.1 20 16753.26 3746.14 
 Ra_Hardness 4890.1 20 481.81 107.74 
Pair 5 Su_MOR 84.2 20 12.53 2.8 
 Ra_MOR 107.6 20 10.84 2.42 
Pair 6 Su_MOE 12677.9 20 4319.49 965.87 
  Ra_MOE 9684.9 20 1545.17 345.51 
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	� m-2 %�!��!�
����
����� ��1�	780*���= ������D��%������������ (Paired Sample 
Correlations) !�#����%�!*��#��
��
�����

*	3,�
���
��%����!�*	���%�!*��#��
�������
�0*�>!���	*�� �#%!!� ���
>�!�%!�����!��#8��� ���� (SPSS 11)  

 
 
    N Correlation Sig. 
Pair 1 Su_Shear strength & Ra_Shear strength 20 -0.442 0.051 
Pair 2 Su_Compression parallel & Ra_Compression parallel 20 -0.16 0.948 
Pair 3 Su_Compression perpendicular & Ra_Compression  20 -0.89 0.708 
 perpendicular    
Pair 4 Su_Hardness & Ra_Hardness 20 -0.285 0.223 
Pair 5 Su_MOR & Ra_MOR 20 0.202 0.392 
Pair 6 Su_MOE & Ra_MOE 20 0.265 0.259 
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-	L9��� ; 

 


���:��	
�
�	������������#�$	�8�
�&���:
�	��

# 

 

 
;-1 
���:��	
�
�	������������#�$	�&��$���"�	$5��$�&����#
���8�
�&���:
�	��

# 
      0	��0*�#�*�*��#��
��
����0	�� 144 ��%��$%8f�� F2�����	#�*�*��#�������0	����E%>�

 ���!�*��#��
��
���!���= 8 %*� !�
%�!�� �����"D� ,�#!�� !���#�*�*������*
�	�3 

 
!�
%�!�� ��%�* !��� !��� (���) 

1. �#�E%�9�	 (����#	� 1.5 �������!) 22,596 
2. p	�	�Q*�%�	 �-� �
����!�*	 (
��#�* Microfiber) 6,778 
3. *������	�
�  5,270 
4.���8�!���
����D43	 � �	9��	$�	
8%��� 10 	�3� (2*�	) 40,000 
5.*��%!=8������*��>	����  30,000 
6. *��%!=8�������D43	 ��1��78 (
��#�* Rense !��	 TX-150) 21,000 
7. *��%!=8��%�����
	����!�*	0	��� �	9��	$�	
8%��� 2 	�3�  ,�#!��
?�
"	���?�
	*%#�*�*�
�� 
�� 60 ���! 36,000 
9. 143	#�*� (��	F���	�8) 
10.1�����	����!�*	 (axial fan) "	#�*�*�
�� (2 ���) 
11. �9�	��������$����� 
12. ��*�,����
�
*	3,������!�*	  
12.  ��	����!�*	 ( 
��#�* TOA) 

12,000 
50,000 
5,600 
13,280 
4,000 

!����� ��%�* !���!�� 246,524 
����!� (30% 0*������ ��) 73957 


	L	
�#LU	�����������#� 320,481 
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;-2 
���:��	
�
�	������������#�$	���������  (Conventional drying) 8�
�&���:
�	��

# 
      0	��0*�#�*�*��#��
��
����0	�� 144 ��%��$%8f�� F2�����	#�*�*��#�������0	����E%>�

 ���!�*��#��
��
���!���= 8 %*� !�
%�!�� �����"D� ,�#!�� !���#�*�*������*
�	�3 

 

!�
%�!�� ��%�* !��� !��� (���) 
1. �#�E%�9�	 (����#	� 1.5 �������!) 22,596 
2. p	�	�Q*�%�	 �-� �
����!�*	 (
��#�* Microfiber) 6,778 
3. *������	�
�  5,270 
4.���8�!���
����D43	 � �	9��	$�	
8%��� 10 	�3� (2 *�	) 40,000 
5. *��%!=8������*��>	����  30,000 
6. *��%!=8�������D43	 ��1��78 (
��#�* Rense !��	 TX-150) 21,000 
7. *��%!=8��%�����
	����!�*	0	��� �	9��	$�	
8%��� 2  	�3�  
    ����
�� 24 ���! 14,400 
9. 143	#�*� (��	F���	�8) 
10.1���� �	����!�*	 (axial fan) "	#�*�*�
�� (2 ���) 
11. �9�	��������$����� 
12.  ��	����!�*	 ( 
��#�* TOA) 

12,000 
50,000 
5,600 
4,000 

!����� ��%�* !���!�� 211,644 
����!� (30% 0*������ ��) 63493 


	L	
�#LU	�����������#� 275,137 
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-	L9��� V 

 

�	
�	�:&L:�#�:��	��g
�og	�

T 

 

 
V-1  �	
L�	����	L�	#
����	
.����	�!���	
�������#�$	�&��$���"�	$5��$�&����#
�������5S�

��������������  
       1. ������*�%�!"D�1�����	"	%!���	%�!*��#�����

*	3,�
���
��%����!�*	 
              1.1  ������*�%�!1�����	*��#��"	D���%�!*���� 1-5 

• ����*��#�� 34 D���>�� 
• ����D43	
���p���
������% 85% �	������D43	 31% %,����	3,�"	
��**%
�
�� 

1848.47 %�>�%!�� 
• ����*��#�����

*	3,���� 100 ˚C ����%�� 13 D���>��, ����*��#�����

*	3,�
���
����� 

105 ˚C ����%�� 14 D���>�� �������*��#�����
��!�*	 ����%�� 7 D���>�� 
 
1.1.1 ������*�%�!1�����	����!�*	!����3�#��"	D���*��#����� 1-5 

1.1.1.1 1�����	����!�*	���"#��%�*�%�$?�
"	#�*�*��*	�!���%!���	%�!
*��#�� 
- �14�*�1���*�=#?���0*�*�%�$�������� 52 %�>�%!�� ��% 25 *�$��F��F�
     
���	 95 *�$��F��F�
  

       - "D� ��!�,�	�=#��������!�*	���	�3 
               Q = m × Cp × ∆T 

- ���	�3	1�����	����!�*	���"D�����%�� 3,900 %�>�����8 
 

1.1.1.2  1�����	����!�*	���"#��%�
��
��?�
"	#�*�*��*	�!���%!���	%�!
*��#�� 

- �14�*�1���*�=#?���0*�
��
���������� 3,423 %�>�%!�� ��% 25 *�$�-
�F��F�
  ���	 95 *�$��F��F�
  

- "D� ��!�,�	�=#��������!�*	���	�3 
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               Q = m × Cp × ∆T 
- ���	�3	1�����	����!�*	���"D�����%�� 482,643 %�>�����8 
 

1.1.1.3 1�����	����!�*	���"#��%�	3,�?�
"	
��
���*	�!���%!���	%�!*��#�� 
-  �14�*�1���*�=#?���0*�	3,��������� 2,909 %�>�%!�� ��% 25 *�$��F��F�
  
���	 100 *�$��F��F�
  

- "D� ��!�,�	�=#��������!�*	���	�3 
                  Q = m × Cp × ∆T 

- ���	�3	1�����	����!�*	���"D�����%�� 950,845 %�>�����8 
 

1.1.1.4 1�����	����!�*	���"#��%�	3,�?�
"	
��
���14�*�����
	 ��	���%
0*��#�����	�%�  
- 1�����	����!�*	���0*�%�!%��
���	
*����%�� 2,257 %�>�����8��*
%�>�%!�� 

- ���0*�	3,�����%��%�!!��#

�����%�� 1,848.47 %�>�%!�� 
- "D� ��!�,�	�=#��������!�*	���	�3 

                  Q = m × L 
-  ���	�3	1�����	����!�*	���"D�����%�� 4,171,996.8 %�>�����8 
 

1.1.1.5 1�����	����!�*	���"#��%�
*	3,�?�
"	#�*�*�
��
���14�*��*�=#?���
��������*�%�! 
- �1���*�=#?�����% 100 *�$��F��F�
  
����	 105 *�$��F��F�
  *��!�
%�!"D�	3,��14�*9���
*	3,�*������ ����%�� 91.2 %�>�%!����*D���>�� 

- ���	�3	1�����	����!�*	���"D�����%�� 9,928 %�>�����8 
 

1.1.1.6 1�����	����!�*	���*��%!=8��%�����
	����!�*	?�
	*%"#��%�
*	3,�
*������"	D���*��14�*9���
*	3,�
���
�� 
- �14�*�1���*�=#?���
*	3,�*��������� 100 *�$��F��F�
  023	���	 105 *�$�-
�F��F�
   

- ���	�3	1�����	����!�*	���"D�����%�� 9,928  %�>�����8 



 137 

1.1.1.7  1�����	����!�*	��*�%!���	%�!*��#�� (D���*��#����� 1-5) 
- 1�����	����!�*	��3�#�������*�%�!"	%!���	%�!*�D������ 1-5 
����%�� 5,629,241  %�>�����8 

 
1.2 ������*�%�!1�����	*��#��"	D���%�!*���� 6-8 
• ����*��#�� 30 D���>�� 
• ����D43	
���p���
������% 31% �	������D43	 13.5% %,����	3,�"	
��**%
�
�� 

599 %�>�%!�� 
• ����*��#�����

*	3,���� 100˚C ����%�� 7  D���>��, ����*��#�����
��!�*	 60˚C 

����%�� 18 D���>�� �������*��#�����
��!�*	 75˚C ����%�� 18 D���>�� 
 
1.2.1 1�����	!��"	%�!%,����	3,�**%��%
��
�� 

-  ����D43	�p���
?�
"	
��������% 31% �	�2� 13.5% F2�� ���!�!��#
	3,� 
**%
�
�� 599 %�>�%!�� 

 - 1�����	����!�*	���0*�%�!%��
���	
*����%�� 2,257 %�>�����8��*
%�>�%!�� 

- "D� ��!�,�	�=#��������!�*	���	�3 
              Q = m × L 
-  ���	�3	1�����	����!�*	���"D�����%��  1,353,725 %�>�����8 
 

1.2.2   1�����	�����*�%�!"	D���%�!*��#����� 6 
            1.2.2.1  1�����	!��"	%�!%,����	3,�**%��%
��
�� 

-  ����D43	�p���
?�
"	
��������% 31% �	�2� 27 % F2�� ���!�
!��#
	3,� **%
�
�� 599 %�>�%!�� 

- "D� ��!�,�	�=#��������!�*	���	�3 
              Q = m × L 
- ���	�3	1�����	����!�*	���"D�����%��   309,209 %�>�����8 
 

1.2.2.2  1�����	����!�*	��%
*	3,�*������  
   - *��!�%�!
#��D���������%�� 92.1 %�>�%!����*D���>�� 
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   - ����*��#�����

*	3,�����%�� 27 D���>�� 
   -  ������	0*�#��*���	3,� 4 ��!8 ������*	����+ 2,738 %�>�%!����*

%�>�%!�� 
   - "D� ��!�,�	�=#��������!�*	���	�3 
                   Q = m × h 
- ���	�3	1�����	����!�*	���"D�����%�� 151,335 %�>�����8 

 
1.2.2.3   ������*�%�!1�����	����!�*	D���*��#�����
��!�*	  

- "D� ��!�,�	�=#��������!�*	���	�3 
       Q = m × Cp × ∆T 
-  ���	�3	1�����	����!�*	�����*�%�!����%�� 157,874 %�>�����8 ��* 5 
D���>�� 

 
1.2.3 1�����	�����*�%�!"	D���%�!*��#����� 7 

- *����
��!�*	 18 D���>��  ���!�%,����	3,�**%
�
�� 377.21 %�>�%!�� 
- "D� ��!�,�	�=#��������!�*	���	�3 
              Q = m × L 
-  ���	�3	1�����	����!�*	���"D�����%��   851,362 %�>�����8 
 

1.2.4 1�����	�����*�%�!"	D���%�!*��#����� 8 
- "D�
*	3,�*������*��#�����	���� 6 D���>��   ���!�%,����	3,�**%
�
�� 85.5  
%�>�%!�� 

 - "D� ��!�,�	�=#��������!�*	���	�3 
              Q = m × L 
-  ���	�3	1�����	����!�*	���"D�����%��   193,154  %�>�����8  
 

1.3    ������*�%�!1�����	����!�*	*��#����3�%!���	%�! 
  ������*�%�!1�����	����!�*	"	%!���	%�!*��#�����
��7��������
��14�*

*��#��
�� 144 ��%��$%8f�� �������D43	�!�����	 85% �	%!�����
��������D43	 13.5% ��
�������%�� 6,982,966 %�>�����8          
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2. ������*�%�!"D�1�����	"	%!���	%�!*��#���������
� (Conventional drying) 
• ����*��#��
��
�� (%���� 3 	�3� × #	� 1 	�3� × 
�� 1 ���!) ����%��  7 ��	 
• *�=#?����p���
*��#��
��
������%�� 75 *�$��F��F�
  
• �!���=
��
�� ,�#!��*��#����0	�� 144 ��%��$%8f�� #!4*	3,�#	�%�!���= 6,456 

%�>�%!�� 
• %�!*��#��
��
���������D43	�!�����	 85% *����	���� 7 ��	�	%!���������D43	

 �����
0*�
��
��
�� 13.5% 
 
2.1 1�����	����!�*	���"#��%�*�%�$?�
"	#�*�*�D����!���%!���	%�!*��#�� 

- �14�*�1���*�=#?���0*�*�%�$�������� 52 %�>�%!�� ��% 25 *�$��F��F�
  ���	 75 
*�$��F��F�
  

- "D� ��!�,�	�=#��������!�*	���	�3 
               Q = m × Cp × ∆T 
-  ���	�3	1�����	����!�*	���"D�����%�� 2,600 %�>�����8 
 

2.2   1�����	����!�*	���"#��%�
��
��?�
"	#�*�*��*	�!���%!���	%�!*��#�� 
- �14�*�1���*�=#?���0*�
��
���������� 3,423 %�>�%!�� ��% 25 *�$��F��F�
  ���	 
75 *�$��F��F�
  

- "D� ��!�,�	�=#��������!�*	���	�3 
               Q = m × Cp × ∆T 
-  ���	�3	1�����	����!�*	���"D�����%�� 321,762  %�>�����8 
 

 
2.3  1�����	����!�*	���"#��%�	3,�?�
"	
��
���*	�!���%!���	%�!*��#�� 

2.3.1 �14�*�1���*�=#?���0*�	3,��������� 460.4  %�>�%!�� ��% 25 *�$��F��F�
  ���	 
75  *�$��F��F�
  
- "D� ��!�,�	�=#��������!�*	���	�3 
                  Q = m × Cp × ∆T 
-  ���	�3	1�����	����!�*	���"D�����%�� 86,601 %�>�����8 
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2.3.2 �14�*�1���*�=#?���0*�	3,��������� 2,445.68  %�>�%!�� ��% 25 *�$��F��F�
  
���	 100  *�$��F��F�
  
- "D� ��!�,�	�=#��������!�*	���	�3 
                  Q = m × Cp × ∆T 
- ���	�3	1�����	����!�*	���"D�����%�� 766,720  %�>�����8 

 
2.4   1�����	����!�*	���"#��%�	3,�?�
"	
��
���14�*�����
	 ��	� 

- ���0*�	3,�����%��%�!!��#

�����%�� 2445.68  %�>�%!�� 
- "D� ��!�,�	�=#��������!�*	���	�3 
                  Q = m × L 
-  ���	�3	1�����	����!�*	���"D�����%��  5,519,899.8 %�>�����8 
 

2.5 �!���=1�����	����!�*	�����*�%�!��*�%!���	%�!*��#�� 
   ������*�%�!1�����	����!�*	"	%!���	%�!*��#�����
��7��������
��14�*
*��#��
�� 144 ��%��$%8f�� �������D43	�!�����	 85% �	%!�����
��������D43	 
13.5% ���������%�� 6,697,583  %�>�����8 
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V-2  �	
�5�L
	��T
���:��	
�������#�$	�8�
�&���:
�	��

# 

        1. �	
�5�L
	��T
���:��	
�������#�$	�&��$���"�	$5��$�&����#
���8�
�&���:
�	��

# 
            "	%!���	%�!*��#��
��
��"D�
��
��0	�� 144 ��%��$%8f�� ��*%�!*�#	2���!�3� F2��%�!
9���
��
����!!�����!�����%%�!"D���4�*
��!!��
��"#���0	�������*�%�! �����2�������
�����	%*�
%*��� 18 ��%��$%8f�� !�� 8 %*� �14�*	,�
�*��#����*
�  ���!�*�
�� 8 �!�3���*��4*	 !�
%�!
��	��	���"D����
�����*
�	�3 

- 
��
�� ���!�� �,�	�	 144 ��%��$%8f�� ��9�������%
��
�����!��F43*�!���= 320 
��%��$%8f�� (��!!��
�� 45%) ������	������
�� 28,800 ��� 

- ���	3,�
�!�%.��	43*
�� 650 ��� 
-  �������1	�%��	 "D�1	�%��	 2 �	 ������	���	������ 12,000 �����*��4*	 ���������	��*%�!

*� 1 �!�3� 
�� 1,500 �����*�!�3�  
- ���"���4�*
 ,�#!����!!��
��!��� 4,000 �����*
� �������
	��% 6 ��4*	 ���	�3	���"D����


�p���
����%�� 83  �����* 1 �!�3�  
- ���
ffQ� ��%%�!"D���4�*
0	�� 2 �!���� "D���	�!�3��� 8 D���>�� �14�*��!!��
��
�� 144 

��%��$%8f�� ����%�� 36  ��� 
- �!���=%�!"D�	3,�����%�� 4.25 ��%��$%8���! ��4�*!���	3,������*
����� 8.5 �����*��%��$%8

���! ���	�3	���	3,����������%�� 37 ��� 
- ���	�3	%�!*��#��
���������"D����
 31,106 �����*�!�3� 

 ��	0*�!�

�����
��!����%�$.
��fg	 "	0=����
��fg¡	��%%�!	,������	3,�	�3	��	,�����%
�$.
�����
����%%�!��!!��
��
������ F2���$.
����*
����1�
�1*%��%�!"D���	 (7,944 %�>�%!��) %�!
*�#	2���!�3�"D�
��fg	�!���= 1,800 %�>�%!�� 
��fg	����#�4**�% 6,144 %�>�%!��  ���!�	,�
�0�


��!���0�
 0.6 ��� ��* %�>�%!�� ���	�3	 ���!�0�

�� 3,686 �����*�!�3� 

"	0=����!���0�

����!!��*��#��������!������
���	�	*	 023	*
��%��%�
%%�!����"	
���	�3%,�#	�!���*
����� 330 �����*��%��$%8f�� ���	�3	!�

����%%�!�,�#	��

������%�� 47,520 ��� 
9�%,�
! ��7���%%�!*��#������%�� 20,100 ��� ��*�!�3�  "	#	2���+ ���!�*��#��
���!���= 90 
�!�3� ���	�3	9�%,�
!��%%�!*��#������%�� 1,809,000 �����*�+  

*��%!=8���"D�"	%�!*��#��
��
����4�*�!�!*��+����*���%�!�,�!��!�%.�*��%!=8����5 >�

*��%!=8#��%5 �����*��,�!��!�%.������������	�3 

- #��*���	3,� ������ 10,000 ��� 
- ��*�,����
�
*	3,� ������ 5,000 ��� 
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- ��� ���%�	 	��#�*�*�
�� ������ 4,000 ��� 
9�%,�
!��%%�!*��#������%�� 1,809,000 �����*�+ ��4�*#�%����,�!��!�%.�*��%!=8#��%���"D�"	

%!���	%�!*��#�� ����9�%,�
! ��7� 1,790,000 ��� ��*�+ 
 
    2. �	
�5�L
	��T
���:��	
�������#�$	�&��$�5S���������  (Conventional drying) 

"	%!���	%�!*��#��
��
��"D�
��
��0	�� 144 ��%��$%8f����*%�!*�#	2���!�3� F2��%�!9���

��
����!!�����!�����%%�!"D���4�*
��!!��
��"#���0	�������*�%�! �����2�������
�����	%*�%*�
�� 18 ��%��$%8f�� !�� 8 %*� �14�*	,�
�*��#����*
�  ���!�*�
�� 4 �!�3���*��4*	 !�
%�!
��	��	���"D����
�����*
�	�3 

- 
��
�� ���!�� �,�	�	 144 ��%��$%8f�� ��9�������%
��
�����!��F43*�!���= 320 
��%��$%8f�� (��!!��
�� 45%) ������	������
�� 28,800 ��� 

- ���	3,�
�!�%.��	43*
�� 650 ��� 
-  �������1	�%��	 "D�1	�%��	 2 �	 ������	���	������ 12,000 �����*��4*	 ���������	��*%�!

*� 1 �!�3� 
�� 3,000 �����*�!�3�  
- ���"���4�*
 ,�#!����!!��
��!��� 4,000 �����*
� �������
	��% 12 ��4*	 ���	�3	���"D����


�p���
����%��  83  �����* 1 �!�3�  
- ���
ffQ� ��%%�!"D���4�*
0	�� 2 �!���� "D���	�!�3��� 8 D���>�� �14�*��!!��
��
�� 144 

��%��$%8f�� ����%�� 36  ��� 
- �!���=%�!"D�	3,�����%�� 4.08 ��%��$%8���! ��4�*!���	3,������*
����� 8.5 �����*��%��$%8

���! ���	�3	���	3,����������%�� 34.7 ��� 
- ���	�3	%�!*��#��
���������"D����
 32,604 ��� ��*�!�3� 

 ��	0*�!�

�����
��!����%�$.
��fg	 "	0=����
��fg¡	��%%�!	,������	3,�	�3	��	,�����%
�$.
�����
����%%�!��!!��
��
������ F2���$.
����*
����1�
�1*%��%�!"D���	 (7,944 %�>�%!��) %�!
*�#	2���!�3�"D�
��fg	�!���= 1,695 %�>�%!�� 
��fg	����#�4**�% 6,249 %�>�%!��  ���!�	,�
�0�


��!���0�
 0.6 ��� ��* %�>�%!�� ���	�3	 ���!�0�

�� 3,750 �����*�!�3� 

"	0=����!���0�

����!!��*��#��������!������
���	�	*	 023	*
��%��%�
%%�!���� "	
���	�3%,�#	�!���*
����� 330 �����*��%��$%8f�� ���	�3	!�

����%%�!�,�#	��

������%�� 47,520 ��� 
9�%,�
! ��7���%%�!*��#������%�� 18,666 ��� ��*�!�3�  "	#	2���+ ���!�*��#��
���!���= 45 
�!�3� ���	�3	9�%,�
!��%%�!*��#������%�� 839,970 ��� ��*�+  
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*��%!=8���"D�"	%�!*��#��
��
����4�*�!�!*��+����*���%�!�,�!��!�%.�*��%!=8����5 >�

*��%!=8#��%5 �����*��,�!��!�%.������������	�3 

- #��*���	3,� ������ 10,000 ��� 
- ��*�,����
�
*	3,� ������ 5,000 ��� 
- ��� ���%�	 	��#�*�*�
�� ������ 4,000 ��� 
9�%,�
!��%%�!*��#������%�� 839,970 �����*�+ ��4�*#�%����,�!��!�%.�*��%!=8#��%���"D�"	

%!���	%�!*��#�� ����9�%,�
! ��7� 820,970 ��� ��*�+ 
 
V-3 #+�LU	 (��:����:�S5  ( Net Present Value �
�� NPV)      

��7��������������	 ��7� ���	%�!#��������������	0*�%!�� ���	 � ��7�0*�>�!�%�!����	"	
������+ F2������%���������������	0*�%!�� ���	 ��0�� (cash inflows) #�%���
 �������������	0*�
%!�� ���	 �**% ( cash outflows ) >�
"D���	��	����p���
����	3,�#	�%0*����	��	0*�>�!�%�!
���	*��!��������4�*!��%!�� ���	 ��������������������	���� 9���178���
���4* �������������	 ��7� 
�������������	 ��7� ���!��,�	�=#�
����% �%�!���	�3 
            

       

 

 
NPV     = CFo +  CF1 +   CF2+¢..+ CFn 
                          ( 1 + r)1 (1 + r)2    (1+r)n 
>�
���    
          NPV    =   �������������	 ��7� 
          CFo     =    ������%�!����	�!�����	>�!�%�! 
          CFt     =    %!����	 �������#���  = D������� t 
            n       =    D���*�
�0*�>�!�%�!����	 
             r      =     *��!������ #!4* ��	��	����p���
0*����	��	 
 
 
 
 

                         n         CFt 

NPV = Σ        

 
 

  t = 0  (1 + r)
t
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1.  %�!����!��#8�������������	 ��7�0*�>�!�%�!%�!*��#��
��
�����

*	3,�
���
��%����!�*	 
 
 
  
                                     

       
CFo    =    320,481 ��� 

          CFt     =    1,790,000 ��� 
            n      =    1 �+ 

  r      =     12.5% ��*�+ (*��!��*%���3
���	%���14�*%�!����	0	����E%�2���	%��� 
0*�7	���!%!����1 "	��4*	��	��� 1.$.2550) 

               ���	�3	 
                               NPV = - 320,481 + 1,790,000/(1+0.125)1 
                                            = 1,270,630 ��� 
 
2.  %�!����!��#8�������������	 ��7�0*�>�!�%�!%�!*��#��
���������
� (Conventional drying) 
 
 
  
                                     

       
CFo    =    275,137  ��� 

          CFt     =    820,970 ��� 
            n      =    1 �+ 

  r      =     12.5% ��*�+ (*��!��*%���3
���	%���14�*%�!����	0	����E%�2���	%��� 
0*�7	���!%!����1 "	��4*	��	��� 1.$.2550) 

                 ���	�3	 
                               NPV = - 275,137 + 820,970/(1+0.125)1 
                                            = 454,614 ��� 
 

                         n CFt 

NPV = Σ         

 
 

  t = 0  (1 + r)
t
 

                         n CFt 

NPV = Σ         

 
 

  t = 0  (1 + r)
t
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V-4  �	
�5�L
	��T��

	9�
�����-	$8�!���	
���:�  (Internal Rate of Return �
�� IRR) 
��!4�*��4*���%�!���	��� ,���-*�%*�	#	2��"	%!�,�������	 �4* %�!�,�	�=#����*��!�

9��*���	?�
"	 (internal rate of return #!4* IRR) F2�������7� IRR 	�3	 �!����,�	�=#����0*�
*��!�9��*���	���
��!��*
�������!����%>�!�%�!����	#	2��5 ���*��!�9��*���	�������!��	�3 
�4* *��!�9��*���	?�
"	 	��	�*� 

*��!�9��*���	?�
"	0*�%�!����	#	2��5 	�3	�4* *��!�9��*���	����,�"#���� NPV 0*�
>�!�%�!����		�3	���������%��$�	
8 #!4*%����*�%	�
#	2��%E�4* %�!�,�	�=#����*��!�9��*���	
?�
"	 0*�%�!����	�4**��!�9��*���	  ����,�"#����	�������	
� ���������%�����	���
��!��%����4	  
��4�*1���!=����
������0*����	�������  (time value of money) F2��*��!�9��*���	?�
"		�3������
���	 *��!������ (discount rate) ���"D��,�	�=������0*����	�!����� �D�	 ���
�%�� *��!��*%���3
 ���
��	��	����p���
����	3,�#	�%0*����	��	 (WACC) ���	�3	 "	����!�3�*���!�
%  IRR ��� 9��*���	
��%%�!�����%!�� ���	 � (discounted cash flow return)  

��%���
��%����
��������%�!�,�	�=#����*��!�9��*���	?�
"	���	*��!�9��*���	��%
%�!����	 ������	*��!����������,�"#���7��������������	 ��7� (NPV) 0*�>�!�%�!���������%��$�	
8 
���� ��1�	78!�#����%!�� ���	 ����*��!�9��*���	?�
"	 �2� ���!�� ��
����� �%�!
��*
�	�3 

 
 
 

 
IRR  =  *��!�9��*���	?�
"	 
NPV = �������������	 ��7� 
CFt    =  %!�� ���	 �������#��� = D������� t 
  n     = D���*�
�0*�>�!�%�!����	 
  r     =  *��!������ #!4* ��	��	0*����	��	 

 
 
 
 
 

                         n CFt 

NPV = 0 Σ         

 
 

  t = 0  (1 + IRR)
t
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1. %�!����!��#8*��!�9��*���	?�
"	0*�%�!����	0*�>�!�%�!*��#��
��
�����

*	3,�

���
��%����!�*	 
 

 

 
���	�3 

      ����*%,�#	���� r = 458 %  
                                    NPV = - 320,481 + 1,790,000/(1+4.58)1 
                                             = 307.53 ���  
 

  ����*%,�#	���� r = 459 %  
                                    NPV = - 320,481 + 1,790,000/(1+4.59)1 
                                             = -266.3 ���  
 
            ���	�3	�������,�"#� NPV = 0 �4* 458.54 
            ∴ !����� IRR = 458.54 
 

2. %�!����!��#8*��!�9��*���	?�
"	0*�%�!����	0*�>�!�%�!*��#��
��
�����
��7�
����
� (Conventional drying) 

 
 
 
 
���	�3 
        ��4�*%,�#	���� r = 198 %  

                                      NPV = - 275,137 + 820,970/(1+ 1.98)1 
                                               = 356.3 ��� 

       
 
 

                         n CFt 

NPV =  0 = Σ         

 
 

  t = 0  (1 + IRR)
t
 

                         n CFt 

NPV =  0 = Σ         

 
 

  t = 0  (1 + IRR)
t
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   ����*%,�#	���� r = 199 %  
                                      NPV = - 275,137 + 820,970/(1+ 1.99)1 
                                               = -565.1 ��� 
          ���	�3	�������,�"#� NPV = 0 �4* 198.39 
          ∴ !����� IRR = 198.39 
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-	L9��� ~ 

 

��������������#�$	�8�
�&���:
�	��

# 

 

 

 

 
-	. 
������� ~-1 ?�1���	#	��0*�#�*�*��#��
��
��"	!����*�� �#%!!�  (#	��
���	
��������!) 
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-	. 
������� ~-2  ?�1���	0���0*�#�*�*��#��
��
��"	!����*�� �#%!!�  (#	��
���	
��������!) 

 

 

 

 

 

 

 

 

 


